OAHU

MAKAHA
°

NORTH

°HALEIWA

Z\ [ A\LOCATION MAP
o

KAHUKU

* WAHIAWA

HONOLULU

WAIKIKI

PROJECT LOCATION:

WAIAWA ARMORY
TMK#9-6-04: 20

SCALE: N.T.S.

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2
WAIAWA ARMORY

STATE OF HAWAII
DEPARTMENT OF DEFENSE

HIARNG PROJECT NO. 15120034 & 15120035
STATE PROJECT NO. CA-1219-D

FINAL DESIGN SUBMITTAL

)
2

O

This work was prepared by
me or under my supervision

\%&\M@@?

APPR

DATE

INDEX TO DRAWINGS

SHT. NO.

DRWG NO.

DESCRIPTION

SHT. NO.

DRWG NO.

DESCRIPTION

PROJECT SITE

N

96-1210 WAIHONA ST.
PEARL CITY 96782
TMK # 9-6-004:020

N

SCALE: N.T.S.

&W \aw_/so_z_? MAP

NORTH

PROJECT DATA

1 T0.1 TITLE SHEET, INDEX TO DRAWINGS, CODE INFORMATION 24 AX5.1 DETAILS
2 | o1 | GEGSTES SIRUCTURAL GENERAL NOTES, WORK NoTES s | wez | oemas
3 A0.2 ABBREVIATIONS, LEGEND AND SYMBOLS 26 AX5.3 DETAILS
4 A1.0 ARCHITECTURAL SITE PLAN /ROOF PLAN 27 AX5.4 DETAILS
5 AA1 1 BUILDING 2 - DETAILED PARTIAL ROOF PLAN 28 AX5.5 DETAILS
6 AA1.2 BUILDING 2 - SECOND FLOOR REFLECTIVE CEILING PLAN 29 AX5.6 DETAILS
7 AA1.3 BUILDING 2 - SECOND FLOOR SCHEMATIC ROOF FRAMING DIAGRAM 30 AXS5.7 DETAILS
8 AB1.1 BUILDING 2 - DETAILED PARTIAL ROOF PLAN 31 AX5.8 DETAILS
9 AB1.2 BUILDING 2 - DETAILED PARTIAL REFLECTED CEILING PLAN 32 AX5.9 DETAILS
10 AC1.1 BUILDING 1 - DETAILED PARTIAL ROOF PLAN 33 AX6.0 DETAILS
11 AD1.1 BUILDING 1 - DETAILED PARTIAL ROOF PLAN 34 AX6.1 DETAILS
12 AE1.1 BUILDING 1 - DETAILED PARTIAL FLOOR PLAN AND ROOF PLAN 35 AX6.2 DETAILS
13 AF1.1 BUILDING 1 - DETAILED PARTIAL ROOF PLAN 36 AX6.3 DETAILS
14 AX2.1 BUILDING 1 - EXTERIOR ELEVATIONS 37 AX6.4 DETAILS
15 AX2.2 BUILDING 1 - EXTERIOR ELEVATIONS 38 AX6.5 DETAILS
16 AX2.3 BUILDING 1 & 2 - EXTERIOR ELEVATIONS 39 AX6.6 DETAILS
17 AX2.4 BUILDING 1 & 2 - EXTERIOR ELEVATIONS 40 AX6.7 DETAILS
18 AX3.1 BUILDING 2 - BUILDING SECTIONS 41 AX6.8 DETAILS
19 AX3.2 BUILDING 2 - BUILDING SECTIONS

20 AX3.3 BUILDING 1 - BUILDING SECTIONS

21 AX4.1 WALL SECTIONS

22 AX4.2 WALL SECTIONS

23 AX4.3 WALL SECTIONS

CODE INFORMATION
REFERENCE CODES:

INTERNATIONAL BUILDING CODE 2006
INTERNATIONAL ENERGY CONSERVATION CODE 2009

EXISTING OCCUPANCIES
B  OFFICES
S-2 STORAGE

BUILDING TYPE

TYPE VB, IIB

CONSULTANTS

SANSEI ARCHITECTS, INC.

ARCHITECT

ENVIRONMETEO SERVICES, INC.

ENVIRONMENTAL

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS [orw mHS Jos wmHS
m m
5 ¢
% 3
"
2
Dm =
5| |
N_ O
zZ =
O S
= :
S| |E
= 5
< ~ =
= H* &
S |2 |2
< | ® S
I % %
G 2
2 |z
2 &
< =
S =
e
oNe) =
OM —
RR o
_|A <
8 =
oL | z
- 0= | S
: 2l | =
s Z|lwg [ Q
B 3 x = S
b =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

10.1

s | & 41




GENERAL NOTES

ENVIRONMENTAL GENERAL NOTES

STRUCTURAL GENERAL NOTES

1.

8.

10.

1.

12.

CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND CONDITIONS AT THE
JOB SITE BEFORE PROCEEDING WITH THE WORK AND SHALL NOTIFY
THE PROJECT MANAGER OF ALL DISCREPANCIES AND/OR CONDITIONS
BEFORE START OF WORK AND PRIOR TO BIDDING.

CONTRACTOR SHALL PROTECT FROM DAMAGE ALL NEW AND EXISTING
WORK TO REMAIN, AND REPAIR OR REPLACE ALL DAMAGED NEW

OR EXISTING WORK TO THE SATISFACTION OF THE PROJECT MANAGER
(P.M.) AT NO ADDITIONAL COST TO THE STATE.

-—

4,

ALL WORK INDICATED SHALL BE NEW WORK UNLESS OTHERWISE NOTED
AS EXISTING. INSTALL ALL ITEMS AND WORK INDICATED AS NEW.

ALL WASTE MATERIALS SHALL BE PROPERLY REMOVED AND DISPOSED
OF OUTSIDE OF THE PROJECT LIMITS AND/OR PROPERTY.

ALL NOTES ARE TYPICAL FOR WORK THRU-OUT.

—

3.

16.
CAULK ALL JOINTS FOR NEW WORK TO PREVENT WATER INTRUSION.

ALL MATERIAL AND WORKMANSHIP SHALL CONFORM TO THE DRAWINGS
AND THE SPECIFICATIONS, AND SHALL CONFORM TO THE INTERNATIONAL
BUILDING CODE, 2006 EDITION. 17.

THE CONTRACTOR SHALL BE RESPONSIBLE TO COORDINATE ALL WORK
INVOLVED FOR A COMPLETE PROJECT.

THE CONTRACTOR SHALL KEEP THE JOB SITE BROOM CLEAN AND
DISPOSE OF WASTE MATERIAL AT THE END OF EACH WORK DAY.

ALL INFORMATION SHOWN ON THE DRAWINGS RELATIVE TO EXISTING
CONDITIONS IS GIVEN AS THE BEST PRESENT KNOWLEDGE, BUT WMITHOUT
GUARANTEE OF ACCURACY. WHERE ACTUAL CONDITIONS CONFLICT
WITH THE DRAWINGS, THEY SHALL BE REPORTED TO THE P.M.. SO
PROPER REVISIONS MAY BE MADE. MODIFICATIONS OF DETAILS

SHALL NOT BE MADE WITHOUT THE WRITTEN ACCEPTANCE OF THE

P.M..

DRAWINGS INDICATE GENERAL AND TYPICAL DETAILS OF CONSTRUCTION.
WHERE CONDITIONS ARE NOT SPECIFICALLY INDICATED BUT ARE OF
SIMILAR CHARACTER TO DETAILS SHOWN, SIMILAR DETAILS OF
CONSTRUCTION SHALL BE USED, SUBJECT TO THE ACCEPTANCE BY THE
P.M..

ALL DETAILS DESIGNATED AS TYPICAL SHALL OCCUR IN ADDITION TO
ANY OTHER SPECIFIC DETAIL CALLED OUT.

18.

-—

9.

20.

PATCH ALL WORK DAMAGED BY CONTRACTOR TO MATCH EXISTING.
PAINTING OF PATCHED WORK SHALL INCLUDE PAINTING TO ARCHITECTURAL
BREAK SUCH AS WALL EDGE, TRIM, MATERIAL JOINT, ETC., AND AS
ACCEPTABLE TO THE PROJECT MANAGER. PAINTING OF PATCHED SURFACE
SHALL INCLUDE TEXTURING TO MATCH, BLENDING, FEATHERING OF EDGE,
ETC. AS REQUIRED TO MATCH EXISTING ADJACENT SURFACE.

THE CONTRACTOR SHALL PAINT ALL NEW WORK EXCEPT PRE—FINISHED
MATERIALS AS SCHEDULED, AND ANY ITEM(S) THAT WERE PATCHED,
REPAIRED, RESTORED AND EXPOSED BY REMOVAL WORK. THE
CONTRACTOR SHALL BACK—PRIME NEW WORK ITEM(S) AS SPECIFIED
PRIOR TO INSTALLATION.

THE CONTRACTOR SHALL PROVIDE TEMPORARY SAFE PEDESTRIAN
PASSAGEWAYS AROUND THE SITE COMPLYING WITH HRS 103-50
AND ADAAG SECTIONS 4.1.1(4) & 4.3.

EXISTING INTERIOR FURNISHINGS, EQUIPMENT, FIXTURES, ETC., NOT SHOWN
ON DRAWINGS. CONTRACTOR SHALL PROTECT INTERIOR SURFACES, AND
ITEMS FROM DUST AND WATER. CONTRACTOR SHALL BE RESPONSIBLE FOR
CLEANING, AND REPAIR OF INTERIOR SURFACES AND ITEMS WHICH ARE
DAMAGED, SOILED, DUSTY, ETC., FROM WORK FROM THIS PROJECT.

CONTRACTOR SHALL COORDINATE HIS OPERATIONS WITH THOSE OF OTHER
CONTRACTORS WHO MAY BE EMPLOYED ON ADJACENT OR RELATED PROJECTS
OF THE STATE AND AVOID UNNECESSARY DELAY OR HINDERANCE IN THE
PERFORMANCE OF THEIR RESPECTIVE CONTRACTS.

CONTRACTOR SHALL TAKE ALL NECESSARY PRECAUTIONS TO KEEP ALL
WORK LEAK FREE TO PREVENT WATER DAMAGE TO THE CONTENTS OF THE
INTERIOR OF THE BUILDING THRU-OUT THE CONSTRUCTION PHASE.

CONTRACTOR SHALL ALLOW FOR CONSTRUCTION TOLERANCES TO ASSURE
MINIMUM AND MAXIMUM REQUIREMENTS ARE MET.

ALL DRY ROT AND TERMITE DAMAGE OR EXTENSIVELY RUSTED
SUBSTRUCTURE DISCOVERED DURING THE PROGRESS OF THE REMOVAL
WORK SHALL BE REPORTED TO THE PROJECT MANAGER FOR INSPECTION
AND RECOMMENDATION. FAILURE TO REPORT SUCH DAMAGE THAT RESULT
IN POOR INSTALLATION OF NEW WORK SHALL BE MADE GOOD BY THE
CONTRACTOR AT NO COST TO THE STATE.

PRIOR TO START OF CONSTRUCTION AND WITHIN 30 DAYS OF COMPLETION 7. CONTRACTOR SHALL USE PROTECTIVE MEASURES FOR ON-SITE CHEMICALS,

OF THE PROJECT, CONTRACTOR SHALL SUBMIT TO HIARNG—ENV A

HAZARDOUS MATERIAL INVENTORY LOG OF CHEMICAL PRODUCTS TO BE

USED IN THE PROJECT, AND PROVIDE AN UPDATE NO LATER THAN 31
JANUARY OF EACH CALENDAR YEAR. THE LOG SHALL INCLUDE THE

PRODUCT NAME AND MANUFACTURER ID NUMBER, CONTAINER SIZE, 8
AMOUNT USED, AND MAXIMUM NUMBER OF CONTAINERS TO BE STORED '
ON SITE AT ANY GIVEN DAY DURING THE PROJECT. MATERIAL SAFETY

DATA SHEETS (MSDSS) SHALL BE PROVIDED OR MADE AVAILABLE TO THE

COR AND HIARNG-ENV UPON REQUEST.

PRIOR TO START OF CONSTRUCTION, CONTRACTOR WILL PROVIDE TO
HIARNG-ENV AN ESTIMATE OF THE MAXIMUM AMOUNT OF HAZARDOUS
WASTE EXECTED TO BE GENERATED PER MONTH, AND THE TOTAL AMOUNT
ANTICIPATED TO BE STORED ON SITE AT ANY GIVEN TIME. ALL WASTE WILL
BE STORED IN A SECURED AREA PENDING REMOVAL FOR DISPOSAL, WITH
SIGNAGE INDICATING CONTACT INFORMATION AND SHALL BE MANAGED IN
ACCORDANCE WITH ALL APPLICABLE FEDERAL, STATE, AND LOCAL

REGULATIONS.

CONTRACTOR SHALL BE RESPONSIBLE FOR ALL COSTS FOR DISPOSAL OF
WASTE GENERATED FROM THIS PROJECT AND SHALL PROVIDE COPIES OF
ALL WASTE DISPOSAL DOCUMENTATION (INCLUDING ANY REQUIRED LAB
ANALYSES, WASTE PROFILES, AND ANY OTHER SUPPORTING

EQUIPMENT AND VEHICLES TO PREVENT SPILLS AND LEAKS INTO THE
ENVIRONMENT AND ENSURE ONLY RAINWATER ENTERS ON-SITE UICS,
STORM DRAINS, SWALES, STREAMS, AND OTHER PATHS TO NAVIGABLE
WATERS.

CONTRACTOR SHALL REPORT SPILLS IMMEDIATELY TO THE COR AND
HIARNG—ENV AND COMPLETE THE HIARNG SPILL INCIDENT REPORT FORMS
AS REQUIRED. CONTRACTOR SHALL IMMEDIATELY CLEAN UP ALL SPILLS
IAW FEDERAL AND STATE GUIDELINES AND TO THE SATISFACTION OF
HIARNG—ENV. CONTRACTOR SHALL MAINTAIN ADEQUATE SPILL SUPPLIES
COMMENSURATE WITH THE POTENTIAL FOR SPILLS, AND WILL CONTRACT
OUT SPILL CLEANUP BEYOND THEIR CAPABILITIES. CONTRACTOR SHALL
ACCOMPLISH ALL REGULATORY VERBAL AND WRITTEN NOTIFICATIONS TO
THE STATE EMERGENCY RESPONSE COMMISSION, LOCAL EMERGENCY
PLANNING COMMITTEE (LEPC), NATIONAL RESPONSE CENTER (NRC),
ENVIRONMENTAL PROTECTION AGENCY (EPA), AS APPLICABLE, AND
PROVIDE HIARNG-ENV COPIES OF ALL SPILL REPORTS.

9. CONTRACTOR IS RESPONSIBLE FOR OBTAINING ANY AND ALL REQUIRED

DOCUMENTATION) TO THE COR AND HIARNG-ENV, ALONG WITH DRAFT
COPIES OF THE WASTE MANIFESTS FOR REVIEW PRIOR TO WASTE

SHIPMENT OFF SITE FOR DISPOSAL.

IF THE CONTRACTOR UTILIZES A

HIARNG EPA ID NUMBER FOR WASTE DISPOSAL, MANIFESTS WILL ONLY BE
SIGNED BY INDIVIDUALS AUTHORIZED BY HIARNG—ENV.

HIARNG—-ENV APPROVAL IS REQUIRED FOR ANY FUELING OPERATIONS BEING
CONDUCTED IN ACCORDANCE WITH (IAW) ALL APPLICABLE REQUIREMENTS.

HIARNG—ENV APPROVAL IS REQUIRED FOR ANY ABOVEGROUND STORAGE
TANK STAGED ON-SITE. FOR STORAGE OF OIL EXCEEDING THE EPA
THRESHOLD OF 1,320 GALLONS SHELL CAPACITY OF OIL IN CONTAINERS

95 GALLONS OR GREATER, CONTRACTOR IS RESPONSIBLE FOR PREPARING
A SPILL PREVENTION, CONTROL, AND COUNTERMEASURES (SPCC) PLAN IN
ACCORDANCE WITH 40 CFR 112 AND SHALL PROVIDE A COPY OF THE PLAN

TO HIARNG—ENV.

FOR ALL OIL-FILLED OPERATIONAL EQUIPMENT BEING INSTALLED UNDER
THIS PROJECT, INCLUDING PAD—MOUNTED TRANSFORMERS,
ABOVEGROUND STORAGE TANKS, AND GENERATORS, PROVIDE TANK
OIL/FUEL CAPACITY, TYPE OF OIL/FUEL, SERIAL NUMBER, AND
MANUFACTURER DATE TO HIARNG—ENV PRIOR TO INSTALLATION. FOR
TRANSFORMERS, ALSO PROVIDE MSDS FOR THE DIELECTRIC OIL.
PAD—-MOUNTED TRANSFORMERS SHALL BE MADE OF 304L GRADE
STAINLESS STEEL, INCLUDING THE TANK, CABINET, FINS, AND ALL

ENVIRONMENTAL PERMITS, E.G., CONSTRUCTION—RELATED SURFACE
DISCHARGE PERMITS, COUNTY—REQUIRED INDUSTRIAL WASTEWATER
DISCHARGE PERMITS, MINOR (POLLUTION) SOURCE AIR PERMITS, ETC.
FOR ANY CONTRACT—RELATED WORK.

GENERAL

1.

2.

ALL WORK SHALL CONFORM TO THESE DRAWINGS AND
ACCOMPANYING SPECIFICATIONS.

CONTRACTOR SHALL FIELD VERIFY ALL FIELD DIMENSIONS AND
CONDITIONS IN THE FIELD PRIOR TO START OF WORK. ALL
DISCREPANCIES SHALL BE CALLED TO THE ATTENTION OF THE
CONTRACTING OFFICER BEFORE PROCEEDING WITH WORK.

CONTRACTOR SHALL COORDINATE ALL WORK WITH ALL TRADES
AND RESOLVE ALL DISCREPANCIES BEFORE PROCEEDING WITH
WORK.

ALL SHOP DRAWINGS REQUIRED BY ACCOMPANYING
SPECIFICATIONS SHALL BE ACCEPTED BEFORE START OF
FABRICATION AND INSTALLATION WORK.

ALL ITEMS NOT NOTED AS EXISTING SHALL BE NEW
CONSTRUCTION.

SHORE, BRACE AND PROTECT NEW AND EXISTING WORK FOR
STRUCTURAL STABILITY DURING CONSTRUCTION. REPAIR OR
REPLACE ALL DAMAGED WORK TO THE SATISFACTION OF THE
PROJECT MANAGER AT NO EXPENSE TO THE STATE.

CONTRACTOR SHALL REMOVE AND MODIFY/REINSTALL WORK
AS REQUIRED TO INSTALL NEW WORK WITHOUT ADDITIONAL
COST TO THE STATE.

O

This work was prepared by
me or under my supervision

\%m&\m&&?

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

REMOVE AND REINSTALL EXISTING CCTV

AND RACEWAY TO COMPLETE NEW WORK.

CAMERA
(N) WALL FLASHING.

REMOVE (E) WALL FLASHING AND REPLACE WITH

(E) LEADER/DS MODIFY AS REQUIRED TO CONNECT TO
(N) GUTTER.

REMOVE MODIFY AND REINSTALL (E) DOWNSPOUT TO
COMPLETE NEW WORK.

REMOVE AND REPLACE (E) CRICKET WITH (N) CRICKET.

(N) EDGE FLASHING W/ (N) 2X FASCIA.

REMOVE (E) EDGE FLASHING AND REPLACE WITH

(N) TPO ROOFING W/ EDGE & WALL FLASHING OVER
(E) CONCRETE EYEBROW. SEE DET. A/AX5.4.

(E) ELECTRICAL CABLE & SUPPORTS - REMOVE AND
REINSTALL AS REQUIRED TO COMPLETE NEW WORK.

A0.1

ASSOCIATED HARDWARE. FOR TRANSFORMERS WITH FINS, THE PAD SHALL DES MHS JoRW MHS oK MHS
EXTEND BEYOND THE FINS. m m
5 |
m %)
€ 2 =
B S
L
g S
L
2 E
SCHEDULE OF WORK NOTES : 5
& 2
A wn
> 5
SYMBOL DESCRIPTION SYMBOL DESCRIPTION m =
< &
REMOVE (E) ROOFING AND INSULATION SYSTEM REMOVE PORTION OF (E) CONCRETE DECK, REMOVE AND REPLACE EXISTING PLUMBING VENT Z u
é DOWN TO CONCRETE DECK AND REPLACE WITH @ INSTALL (N) WOOD CURB, FLASHING,SOLAR TUBE, ETC. @ FLASHING. SEE DETAIL B/AX5.4 @ WOOD DECK, AND @ vzquw,r___.q ww/wmmmo GE FLASHING AND 2X FASCIA. Q (N) 2X FASCIA, AND EDGE FLASHING. o m
(N) TPO ROOFING AND INSULATION SYSTEM. DETAIL B/AX5.9 @ CONCRETE DECK. e e 2
e o
D
REMOVE (E) ROOFING SYSTEM DOWN TO WOOD (E) POLE ANTENNAE TO REMAIN, INSTALL (N) EXISTING ELECTRICAL PANEL REMOVE AND REPLACE N) 4" ABS LEADER. D.S. AND HANGERS (E) WATER HEATER VENT PENETRATION- REMOVE AND z 5
DECK AND REPLACE WITH (N) TPO ROOFING AND GUY WIRE AND HOLD DOWNS PRIOR TO REMOVING WITH EXISTING TO COMPLETE NEW WORK (N) , D.S. s REPLACE PENETRATION FLASHING W/ (N) p= =
INSULATION SYSTEM. (E) GUY WIRE AND HOLD DOWNS. . . mm m
_ N -
REMOVE AND REPLACE (E) CONDENSATE DRAIN PIPING (E) DISH ANTENNAE ON METAL FRAME REMOVE EXISTING PENETRATION FLASHING AND N) 4" SUB-DRAIN (E) LEADER AND D.S. W/ HANGERS - REMOVE AND < H m
A@ W/ (N) CONDENSATE DRAIN PIPING. SLOPE TO DRAIN é DISCONNECT REMOVE AND REINSTALL AND RECONNECT REPLACE WITH (N) PENETRATION FLASHING. (N) ) . REPLACE W/ (N). = |z Q
W/ SUPPORTS SEE DETAIL C/AX5.3. AS REQUIRED TO COMPLETE NEW WORK. DETAIL C/AX5.4 WOOD DECK, & B/AX5.9 CONC. DECK. < | =
O] o
DISCONNECT, CAP AND REMOVE (E) ELECTRICAL (E) GUTTER AND EDGE FLASHING - REMOVE AND REMOVE AND REINSTALL (E) EXHAUSE DUCT. REMOVE AND REPLACE (E) TERMINATION BAR AND REMOVE AND REPLACE (E) CAP FLASHING W/. a L
A@ RACEWAY TO (E) MECHANICAL HVAC SYSTEM. CONNECT REPLACE W/ (N) GUTTER, 2X FASCIA & EDGE FLASHING. REPLACE CURB AND FLASHING W/ (N) CURB AND COUNTER FLASHING W/ (N) TERMINATION BAR AND. (N) CAP FLASHING. @ S
AND REPLACE WITH (N) RACEWAY AND SUPPORTS. FLASHING. SEE DETAIL A/ AX6.4 @ WOOD DECK. FLASHING. s =
T
REMOVE (E) ROOF HATCH AND LADDER AND (E) LEADER - REMOVE AND REPLACE WITH (N) EXISTING SECURITY LIGHT - REMOVE TO REINSTALL N) WALL FLASHING. ROOFING SYSTEM. AND < &
@ REPLACE WITH NEW HATCH AND LADDER. SEE é LEADER, AND HANGERS. @ EXISTING TO COMPLETE NEW WORK. MODIFY MOUNTING @ (N) CAP FLASHING. @ Ammwo_m FLASHING. _ = =
DETAIL AJAX4.2. BRACKETS AND RACEWAYS AS REQUIRED. S 2
> | =
REMOVE AND REINSTALL (E) ROOF DRAIN TO (E) SOLAR WATER HEATER PANELS ON METAL EXISTING PARAPET - REMOVE AND REPLACE Q o =
é TO COMPLETE NEW WORK. @ FRAME, DISCONNECT, REMOVE AND REINSTALL, EXISTING COUNTER FLASHING ,CAP FLASHING W/ (N). w%%%n_._mw%o EPDM MEMBRANE OVER CONC. AND CMU REMOVE AND REPLACE (E) D.S. W/ (N) D.S. 89 |
RECONNECT AS REQUIRED TO COMPLETE NEW WORK. ADD (N) EPDM FLASHING, PATCH AND PAINT.. . m o x L
o
" n L =
é REMOVE AND REINSTALL Amv ROOF OVER FLOW DRAIN é Amv HVAC FRAME PENETRATION POCKETS Amv REMOVE & @ AZV WALK PADS 30" X 30" ADHEARD TO TPO ROOFING. é REMOVE AND REINSTALL GUY WIRE TO AZV GUY @ WM__“V\_b%_M_mmem__UHOO_N_HA_mWP7_”\_m>%_HmW7WP\_Mh%,__ﬂuw_w_._m.__“_d/_\m__./_.\__m/m__m\_c m m w AWn N_
TO COMPLETE NEW WORK. REPLACE WITH (N) PENETRATION POCKETS. BRACKET. SEE DETAIL C/AX6.4. ’ T 2|lx< o
GROUT AND CONCRETE PATCHING COMPOUND. 5 = x“_ Awn 2
REMOVE AND REINSTALL (E) ELECTRICAL (E) HVAC DUCT PENETRATION - REMOVE AND (N) CRICKET (E) SECURITY EQUIPMENT - REMOVAL AND REPAIR APPROX. 10 LF OF CONCRETE CRACK. CHIP OUT m g °©
RACEWAYS AND CABLES TO COMPLETE NEW WORK. REPLACE EXISTING PENETRATION CURB AND FLASHING REINSTALLATION BY USERS AS REQUIRED TO COMPLETE LOOSE CONCRETE AND PATCH WITH CONCRETE T
SEE DET D/AX5.4. OTHER DETAILS NOT SHOWN. WITH (N) FLASHING AND CURB. NEW WORK. PATCHING COMPOUND. PAINT TO MATCH EXISTING. AS NOTED
(N) SOLAR TUBE PENETRATION, CURB, FLASHING, ETC. REMOVE & REINSTALL (E) POWER VENTILATOR. REPLACE (E) ELECTRICAL WEATHERHEAD RACEWAY - REMOVE STATE 0B No.
REMOVE AND REINSTALL ELECTRICAL PENETRATION SEE DETAILS A/AX5.1, BIAX5.1, AND B/AX5.2. (E) CURB AND FLASHING W/ (N). SEE DETAIL B/AX5.6 @ AND REINSTALL AS REQUIRED TO COMPLETE NEW oA 12190
DUCT TO COMPLETE NEW WORK. ! _ FEDERAL PROJECT NO.
CONC. DECK, AND A/AX6.7 @ WOOD DECK. WORK.
& @ & @ @ -

41

ﬂ_nm._.N OF




ARCHITECTURAL ABBREVIATIONS SYMBOLS [EGEND MATERIALS LEGEND

& And DN Down INT Interior REV Revised, Revision or Reversed Seer PESCRIPTON seet PESCRITIN
/. Angle DR Door INV Invert RFG Roofing DRAWING NO
@ At DS Downspout RH Robe Hook X'NDRAWING TITLE =HE] SOIL
[ Centerline DSP Dry Standpipe JAL Jalousie RM Room x| SCALE [
[ Channel DW Dishwasher JAN Janitor RND Round //Vﬁ
¢ Diameter DWG Drawing JB Junction Box RO Rough Opening REF SHT NO WHERE DRAWN
’ Foot; Feet DWR Drawer JST Joist RWD Redwood BASE COURSE,
? Inch JT Joint RWL Rain Water Leader CUSHION FILL
% Percent EA Each SA Single Acting
1 Perpendicular EFS Exterior Finish System L Length or Long SC Scale or Solid Core INTERIOR ELEVATION —
# Pound; Number EIFS Exterior Insulation & Finish System LAM Laminate or Laminated SCD Seat Cover Dispenser INDICATION T T CONCRETE
0O Square Foot EJ Expansion Joint LAV Lavatory SCHED Schedule e

EL Elevation LB Pound SCR Screen
A/C Air Conditioning ELEC Electrical LF Lineal Foot SD Smoke Detector or Soap Dish
AB Anchor Bolt ELEV Elevator SECT Section D mmwmwmwmw CONCRETE MASONRY UNIT
ABV Above EMER Emergency M Male SF Square Foot @ DOOR MARK
AC Asphaltic Concrete ENCL Enclosure MAX Maximum SH Shelf
ACOUS Acoustical EP Electrical Panelboard MB Machine Bolt SHR Shower \ EXISTING
ADJ Adjustable EQ Equal MBR Master Bedroom SHT Sheet @ WINDOW MARK
ADJA Adjacent EQPT Equipment MC Medicine Cabinet SHT'G Sheathing
AFF Above Finished Floor EXP Expansion MECH Mechanical SIM Similar NO
AGGR Aggregate EXST Existing MET Metal SL Slope X PARTITION TYPE % INSULATION, CLOSURE STRIP
AL Aluminum EXT Exterior MFR Manufacturer SLDG Sliding
ALT Alternate MH Manhole SND Sanitary Napkin Dispenser
ANOD Anodized F Female MIN Minimum SNR Sanitary Napkin Receptacle ¥8—0" | CEILNG HEIGHT
AP Access Panel FA Fire Alarm MIR Mirror SPEC Specification
APPROX Approximate FAEM Fluid Applied Elastomeric Membrane MISC Miscellaneous SPKR Speaker
ARCH Architectural FB Flat Bar MLDG Molding SQ Square Rnym%mw_.\oo_bm INDEX
ASB Asbestos FCU Fan Coil Unit MO Masonry Opening SSK Service Sink
ASPH Asphalt FD Floor Drain MTD Mounted SSTL Stainless Steel

FDN Foundation MTG Mounting STD Standard REFERENCE NORTH
BD Board FE Fire Extinguisher MTL Material STOR Storage NORTH ARROW
BITUM Bituminous FEC Fire Extinguisher Cabinet MUL Mullion STRL Structural
BLK Block FFE Finish Floor Elevation STRUC Structure
BLKG Blocking FFS Floor Finish Separation NIC Not In Contract SURR Surround @ WORK NOTE
BLDG Building FG Float Glass NO or # Number SUSP Suspended
BM Beam FHC Fire Hose Cabinet NOM Nominal SVC Service
BOT Bottom FIN Finish NTS Not to Scale SYM Symmetrical
BR Bedroom FIXT Fixture SYS System
BRG Bearing FL Floor OA Overall COLUNMN GRID DESIGNATION
BRKT Bracket FLASH Flashing 0BS Obscured TB Towel Bar B
BS Both Sides FLDG Folding oC On Center TEL Telephone
BTWN Between FLUOR Fluorescent oD Outside Diameter (Dim) TEMP Tempered y SECTION
BUR Built-up Roofing FOC Face of Concrete OFClI Owner Furnished — Contractor Installed TER Terrazzo B DETAIL IDENTIFICATION

FOF Face of Finish OFOI Owner Furnished — Owner Installed T&G Tongue and Groove A% SHEET WHERE DRAWN
CAB Cabinet FOM Face of Masonry OFF Office THK Thick or Thickness <
CB Catch Basin FOS Face of Stud, Slab or Structure OPNG Opening THR Threshold
CEM Cement FOwW Face of Wall OPP Opposite THRU Through DETAIL
CEMPLAS Cement Plaster FPRP Fireproof OVHD Overhead TJ Tooled Joint B
CER Ceramic FR Frame TO ()  Top of (item) DETAIL IDENTIFICATION
Cl Cast Iron FRT Fire Retarded Wood PC Piece TPD Toilet Paper Dispenser e SHEET WHERE DRAWN
CIP Cast—in—Place FS Full Size or Floor Sink PL Plate or Property Line TPH Toilet Paper Holder
CJ Control Joint FT Foot or Feet PLAM Plastic Laminate TRD Tread
CLG Ceiling FTG Footing PLAS  Plaster v Television RM NAME-——HANGAR  ROOM IDENTIFICATION
CLO Closet FURR  Furming or Furred PLBG Plumbing TYP Typical RM NO——= 116
CLR Clear FUT Future PLYWD Plywood
CMU Concrete Masonry Units PNL Panel UNF Unfinished T REVISION NUMBER
CNTR Counter GA Gauge PR Pair UON Unless Otherwise Noted
CO Clean Out GALV Galvanized PRCST Precast UR Urinal % REVISION CLOUD
CoL Column GB Grab Bar PREFAB Prefabricate
CONC Concrete Gl Galvanized Iron PREP Preparation VCT Vinyl Composition Tile
COND Condition GL Glass PROP Property VERT Vertical
CONN Connection GLU—LAM Glue Laminated Wood PT Point VEST Vestibule
CONSTR  Construction GMU Glassmesh Mortar Units PTD Paper Towel Dispenser VIF Verify In Field
CONT Continuous GND Ground PTD/R  Combination Paper Towel VTR Vent Through Roof
COORD Coordinate GR Grade Dispenser and Receptacle
CORR Corridor GWB Gypsum Wall Board PTN Partition w Wide or Width
CONTR Contractor GYP Gypsum PTR Paper Towel Receptacle w/ With
COTD Clean Out to Drain H High or Height PVC Polyvinyi Chloride wC Wall Covering or Water Closet
CRM Concrete Rubble Masonry HB Hose Bibb PWT Pavement WD Wood
CT Ceramic Tile HC Hollow Core WDW Window
CTR Center HD Head QT Quarry Tile WH Water Heater
CTSK Countersink HDCP Handicapped W/0 Without

HDWD Hardwood R Riser WO Where Occurs
D Deep or Depth HDWE Hardware RAD Radius WP Waterproof
DA Double Acting HM Hollow Metal RB Resilient Base WR Water Resistant
DBL Double HMDR Hammer Drive RD Roof Drain WSCT Wainscot
DEPT Department HORIZ Horizontal REC Recessed WSP Wet Standpipe
DET Detail HR Hour REF Reference WT Weight
DF Drinking Fountain REFR Refrigerator WWF Welded Wire Fabric
DIA Diameter ID Inside Diameter (Dim) REINF Reinforced or Reinforcing
DIAG Diagram IN Inch REQ Required
DIM Dimension INCL Inclusive, Included or Including RESIL Resilient
DISP Dispenser INSUL Insulation RGTR Register

O

%

This work was prepared by
me or under my supervision

\%m&\m&&?

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
m m
§ 3
: 2
.
2
o
'
<
2
Q)
-
< o
5| |3
e 4
2
> <
= i
4 <
< | o =
|3 |e
o
= | < ®
< | ¥ -
T 0 %)
o 1
Q (©]
- =
o >
O )
2 |2
S 5
= <
E
o |&
Q0 | =
ERE
RR M
S
|52 |
s o | w
: 2|l x< T
U M w < O
xs | X
§ 3 <
b =
SCALE:
AS NOTED
STATE J0B NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

AQ.3

ser 3 o 41




2

O

A
AB1.1

/ A\ ARCHITECTURAL SITE/ROOF PLAN

40’

@ SCALE: 3/64" = 1'-0"

30'

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

=
<C
|
[a 1R
L
(@)
2
VI —
x | =
82z |2
—
o <C
<C
mm z | @
T
= 2 < T
s Z|lug |8
| = | <
b =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

A0

s 4 & 41




ﬂw 19'—4" ﬂnw 18'—8" HKW 18'—8" ﬂw 39'—4" m.w 24'-8" m.w 24’—8" w\\\\\Mwl \\\N\AWW\\\W%
1 \_ 56'—8" | \_ 39'—4" \_ \_ 92'~0" @ t.v\\\\\\\\\\\\\\ %
Am C W
—-———1 ADJACENT ROOF BELOW-
B’ \b LOW ROOF p ||||||>x;.p~| |||||||||||||||||||||||||||| SEE ROOF PLAN A/AB1.1
N &z S f ,. f
- < | Hi @ \
) - [ He——————= S ————————— T = 7 — T
. : : . I.II.II.I.M.II. = B CoL f N — == III.IIII.IIIIfIII. — b ——__ _7 <
S | 9 T |
N N - P . s g _
0 0 PNO e 2l
A G\ |
_ <
. “ @ This work was prepared by
= _ me or under my supervision
R W Bl .
TN 1 \%\a\x@»
9 H |
.o g | .
oy Y Al . :
o £ Al
g _ I
. . . . . W _ o
S - “ ADJACENT ROOF BELOW-
” .o A .. 5 _ SEE ROOF PLAN A/AB1.1
o ... . m |l
AX3.2 © Ce o g _
< Aav . c e e W “ @
& @ | -
< Co Ce - _ <
i C e H | 5l N
7 T e g | ’ :
A g Al 4
ot @ ) m ’ “ SUBMITTAL PHASE
i N i _ DECEMBER 18, 2013
@ — L L L | .“ SUBMITTAL DATE
es MHS forw mHS Jow wmHs
é> N ¢ :
/ W 3
(&) 4
| g =
(E) LOW ROOF BELOW . “ W
TO REMAIN N.I.C. 1l g
i
| : Dm
e X 3
-
i m
® S >
~ Z |
N = H:
T AWn o3
o -
/// M m
&
—
S 0 10' D|DD_
W‘ / AN\BUILDING 2 — PARTIAL DETAILED ROOF PLAN z
N é SCALE: 1/8" = 1'-0" 5' 15 = 5
s |=
ax |8
oS | g
@ ® | ElE2 |2
17'—4” 24’—8" 8'—0" | S |
1 RIEERE
C\ R RE
e : 5|25 |2
@A@Wn 3 .m.w_?@w M asNOTED
@ , 5 G o w&ch Yk 219D
4 FEDERAL PROJECT NO.
DRAWING NO.
—
= /B \BUILDING 2 — PARTIAL DETAILED LOW ROOF PLAN o 10 — >>\_ \_
< é SCALE: 1/8" = 1-0 2 s () KEY PLAN .
SCALE: N.T.S.
ser O o 41




O
S
© ® © © © © ©
187'—4"
39'—4” 91'—4"
26'—8" 22'—8" 17'—4” 24'—8”
-~ _ _ _ 7 2] 7, — 2 (=
. ﬁ ﬁ ﬁ
3 This work was prepared by
..n_u o me or under my supervision
-
B - \%\
) V&S ko)
- ;3
-] , M
W ] e _ &)
’ 2 s
5 4 & !
| . N :
R%_u : 4 o s ‘ta ] = Amv
°
o | O H |
(E) LAY-IN-TILE :
B E = M B & B mcmn%zomo 5 2
CEILING N e
% N N =
O | i 2
()] SUBMITTAL PHASE
DECEMBER 18, 2013
E E & m # SUBMITTAL DATE
B k& [ A — @ pes  MHS [orw MHS o mHS
|
O O O O O 2 m m
R w £
4 - | T = m
oy 3 3
| i f2 B
M g
= -+ 4 = 5 o — = m
& & I= % m
ﬂ 3
] °e ya N_
_ W = 2 @ m
7 o _m_ _AM
\7 — - & | O % pa
AX5.2 % © - & x z
1 e unl__\ __NT\”__\ VN__ s A 7 = mw/_—n m
® |z |8
/B /A /B 2|z |@
w62 NG 062/ HEE
()] —
E
) o
Ak
= i
L
r __|__ m mw m
= _ a2 | &
=N /A\BUILDING 2 — PARTIAL DETAILED SECOND FLOOR REFECTED CEILING PLAN ° 10 ﬁ L : /55 |8
(| éwgﬁ 1/8" = 1-0" 2 15 _ _ = 32 (2
., | e E|¥S |
_ B =
_ _ _ _
] ] HE S NOTED
" " " " STATE JOB NO.
_ CA-1219-D
|||||| I FEDERAL PROVECT NO.
_ _
|||||| = DRAWING NO.
— D D \_ N
|/ KEY PLAN .
SCALE: N.T.S.
seer 9 o 41




187'—4"

mmglm:

uonlh-:

o\_ -lL.:

19'—4"

‘_ mulmgg

‘_ mulmgg

1 47_0"

Nmulmgg

NM-'@:

\_ﬂ~|L-=

thnlm:

NN
NN

60,—0”

26,—8”

341_011

52]-8"

46,—0”

—|
|

20,—0”

93)_411

=
=

———
N~
N~ |
—
=

=

d

/A \BUILD

W

U

U

U

U u

I

SOCTS S

1 5,_411

591_411

11!_4,1

%ﬁ

N

e e Tp—

)

N

RN

/E'<§> =R
12'-8"

NN
®

NG 2 — PARTIAL SCHEMATIC ROOF FRAMING DIAGRAM V.L.F.

AA1.3 ) SCALE: 1/8° = 107

5 15'

%’
%
N |

=
=
=
=
=
=
=
=
—

lﬂv KEY PLAN

SCALE: N.T.S.

d

2
e

O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
PARTIAL SCHEMATIC ROOF FRAMING PLAN

" | FAGIITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

AA13

41

ﬂ_nm._.@ OF




O

| | | 106'-8" | | | |

wuulh.: \_u-lbv-

NO.'@: ﬂN.lﬂ:

SL SL

|
|
©
?

@

This work was prepared by
me or under my supervision

|
©
APPR

DATE

&
2l
&

&

421_0)!
161_811

56’—0”

DESCRIPTION

SYM

1 ‘é SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE

DESIGN AND PROJECT MANAGEMENT BRANCH

Wﬂ MECHANICAL VENTILATOR

o

/ A\BUILDING 2 — PARTIAL DETAILED ROOF PLAN 10
é SCALE: 1/8" = 1'-0" a 1

N

@ MECHANICAL VENTILATOR

& ROOFING VENT

a

HAWAII ARMY NATIONAL GUARD

& PLUMBING VENT

@ 6" FLUE

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
PARTIAL DETAILED ROOF PLAN

|
|
|
|
|
|
|
FACIITY MANAGEMENT OFFICE

g STATE OF HAWAIl

|| ———— I AS NOTED

STATE J0B NO.
CA-1219-D

g =

DRAWING NO.

e AB1.1

N

ser [« 41




- A I - I =i - I 1 I ” - I -
I CUTY Y UL InTen'eaianianl U
- - ®
& ¢
@
(
A
N N N (] ™
N ] N N N Rl W%
L
2 2 0 2) . @
i : : i
V s (] N (] (] N \H/XA\A
| N N N N Y
N\ \p
%N 2 2 @
SH q ¥ q q —HH-D
e 9|
11°—4” 19'—4" n ) @
40'-8" 15'—4' 13-4
|
TYP.
SOLAR TUBE DET.

N~

/ A \BUILD

NG 2 — PARTIAL DETAILED REFLECTED CEILING PLAN

AB1.2 / SCALE: 1/8" = 1"-0"

EXISTING CEILING VENT.

EXISTING CEILING MOUNTED LIGHT FIXTURE.

O

10’

15'

KEY PLAN

SCALE: N.T.S.

_,_“__=\\§§§§\\\\\\\\\ ‘

N

3

v -

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
HAWAII ARMY NATIONAL GUARD
DESIGN AND PROJECT MANAGEMENT BRANCH

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
PARTIAL DETAILED REFLECTED CEILING PLAN

. FACILITY MANAGEMENT OFFICE

g STATE OF HAWAI

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AB1.2

ser 10 & 41




O

This work was prepared by
me or under my supervision

APPR

DATE

4’_0”

DESCRIPTION

SYM

. SUBMITTAL PHASE
— .
e . S DECEMBER 18, 2013
.. w .. Bl SUBMITTAL DATE
@ | es MHS forw mHS Jow wmHs
e @ _ - A m m
C _ A_r <
“ ~ ] s =
| s 5 3
Y O @ :
? L /B g
L) | AX6.3 m
. | a)
_ e
_ <
.. _ W
||||||||||||||||||||||||||||||||||||||||||||||||||||||||| N R R A _ ! <
0 . _f |Lf = | ® pd
[ @__ [ _ < m
- — — ] — __||T |||||||||| ————— ' _ |T|II__ |||||||||||| —————— |—II_7 (eI ANn
SL
Z
4 o = | &
o
(53 < |-
N < w
T 16
()]
0 10" @
\\\v 7/ AN\BUILDING 1 — PARTIAL DETAILED ROOF PLAN 2
Dl AC1.1 / SCALE: 1 \m.. = 1'-0" 5 15' = Z
O o)
oy | 8
89 |2
SUBSTRATE FASTENING SCHEDULE m = o _Auun_
ZONE DESCRIPTION _ = = m m.u < o)
"FIELD PANELS - FASTEN AS PER | | 2 2|8 Awn =
@ DETAIL C/AX4.3 - W /8 #10 X 2"L SSTL SCREWS _ | s 2| W< %
AND SEAM PLATES / BD. | -1 x
5 =
"EDGE, RIDGE, AND HIP PANELS - FASTEN AS PER | _ T
@ DETAIL C/AX4.3 - W/ 15 #10 X 2"L SSTL SCREWS | | AS NOTED
AND SEAM PLATES / BD. g STATE %08 N,
— CA-1219-D
"CORNER PANELS (4'-0" X 4'-0" CORNERS) —_——— —J —TETIT)
FASTEN AS PER DETAIL C/AX4.3 - W/ 9#10 X 2"L
SSTL SCREWS AND SEAM PLATES / HALF BD. — ORAMNG NO.

JY) T AC1.1

N~

s 8 o 41




@

O

This work was prepared by
me or under my supervision

\%m&\‘m\g,

36'—10"

18'-8"

APPR

DATE

e ® @@ .5 ...@%@.
YR =
7 >x0w R .>vmw~ | .. 3%“% .>vmw~, @A@W @
NZC Ao\ BREZA AR ahTo]
@ 3 ..L@
ON LS oY )
. LOW ROOF L m - M
- ‘ BELOW [ | r_ =
o @ ® ® ® ® @ ]
_ 42'-8" _
/ AN\BUILDING 1 — PARTIAL DETAILED ROOF PLAN © 10
o \\\\\\\\\\v é SCALE: 1/8" = 1'-0" s s

N

SUBSTRATE FASTENING SCHEDULE

DESCRIPTION

"FIELD PANELS - FASTEN AS PER
(1) DETAIL C/AX4.3 - W /8 #10 X 2"L SSTL SCREWS

AND SEAM PLATES / BD.

"EDGE, RIDGE, AND HIP PANELS - FASTEN AS PER

AND SEAM PLATES / BD.

"CORNER PANELS (4'-0" X 4'-0" CORNERS)
FASTEN AS PER DETAIL C/AX4.3 - W/ 9#10 X 2"L
SSTL SCREWS AND SEAM PLATES / HALF BD.

@ DETAIL C/AX4.3 - W/ 15 #10 X 2"L SSTL SCREWS

SCALE: N.T.S.

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
pd
O
T
<
pd
>
=
e
< N
A”n +
o3
< | <
< **
9]
T O
o
a
m
a
=z
<
=
=
S
%)
oy |2
Qo | £
Elgz |2
X ¥ >
- i
LS | ©
ol | x
= 0= |2
: 2|l | g
s Z|lw | &
= |
E =8 L
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

AD1.1

ser 11 & 41




woulk.-u M
- - 2
“Z
- + 4.58' S
[ I [ | f \ >
-0 R _
25 5 o S m
— | ERR AR .o .
IR = 23 © @lw_ . L \
== _
> g A
= ol f
] _ = _ _ _ ! l. .
7z ! |
m .._ .
>
=] . o
T ,
- _
m N P This work was prepared by
_. me or under my supervision
% _
R -
e niinmillic) = 2z 2z oz z — ! @”.u_. / %&g
=0 | \
~ s : g : N
Am @R 5 ol F <
N s K .o _ . .
— © @ oo . .o Z
S - a @ @ @ =
o — AX5.8 - _ e )
o e .
= 25 T 9 ! {- oSl | s |
z % m N © N o m
o © |00 = a1l
< o+ | g
>.|.p.u.|.\| 0 2P -|.||.> } L S |.\\Hy/ 2
AX3.3 - B 1k ﬂ T3 L_w_m - AX3.3 AX3.3 I Co AX3.3 4
N - N Lo
>0 (7)) — . _ n
a\/q uIOd. n..U ! 1. SUBMITTAL PHASE
. & A : _ DECEMBER 18, 2013
= 7unv w o oo SUBMITTAL DATE
e ~ . s MHS |orw mHS ok mHS
o =2 |
T . .| d
2 |< 2 > . . .AmW m M
= 7uﬂv =R 2 |n < m
= - = = > | =z ulnw. 5 f & 5
o (3 =2 1 . W
=N ) _ £CY ok
Y AX5.8
NN ERa—, — // o . W
g R m L £ FW.A_\,W G
A X > D SUBSTRATE FASTENING SCHEDULE <
- = n& ZONE DESCRIPTION m
= wV. m < m .R_u "FIELD PANELS - FASTEN AS PER =
. W RS, - — - PV @ DETAIL C/AX4.3 -W /8 #10 X 2"L SSTL SCREWS ANn
Q NTEE B (E) ELEC RM NV AND SEAM PLATES / BD. -
S
. < \/ RM. 120 \ H @ 3 _ "EDGE, RIDGE, AND HIP PANELS - FASTEN AS PER W
[T .4 L% 2| _ 4 ] @ DETAIL C/AX4.3 - W/ 15 #10 X 2"L SSTL SCREWS Aln o
[l — — AND SEAM PLATES / BD. z |3
@ "CORNER PANELS (4'-0" X 4'-0" CORNERS) AWn T
g\/ﬁ & FASTEN AS PER DETAIL C/AX4.3 - W/ 9#10 X 2"L am %
hmu AWN SSTL SCREWS AND SEAM PLATES / HALF BD. M
RM. 113 o
S |3
s o
S S
0 10" 0 10" > |2
\\\\\\\\v /B \BUILDING 1 — PARTIAL DETAILED FLOOR PLAN \\\\\\\\v / A\BUILDING 1 — PARTIAL DETAILED ROOF PLAN [ mm &
S ) NPT/ SONE 1/ =10 2 5 S ) N SOAE: 1/87 = 10 2 s — E| 2 z |2
- - T : 952 |8
_ _ : 2|l |2
Fl o< o
| e 5les |
_ _ B &
_ _ SCALE:
IIIIIII AS NOTED
ST
_ N o >ﬁamnmmz-o
FEDERAL PROJECT NO.
\\\\\ DRAWING NO.
_>_________§§§\\\\\ KEY PLAN > m \_ \_
SCALE: N.T.S. .
ser 12 o« 41




] ] ] ] ] ] ] ] ] ] ] |
\\\\,
\\\\\\\\n
/ / .
(B CAN e oo b ehored
N\ ELEC CABLES Ez ﬂ "
N W s 9
X S T : _ : T 1
. . .o | e
N (o) _ _
- a3 Co e .
/j - CS “””_..Hﬂ %_: 7 @m_u 7 @ @r .+ - - ,
N B Y U U ~ . . . N [ =
] | EP - Pt - -_—_-—_—|{—-: " T T — o
..4_. // @. - : 2 @ . @ 2 @ [ . . [ . . @ [ . IE «..nv
5 N N N | L A . I, N . I ]
(ﬂ_@A| A E_ E.._ V. /) ©
@ﬁ/\«@.../.. )
. : . | | .
. . .7 oo S Amvmo_.%_vbzm_.m I _ o
| AR
_ | S
— . # ° . . . . ﬂ<o . o_o . . . . . ﬂ< . W
A RN L . . A
_ . . . .l_l. . . . . . P . . . . N . . . . . . . . 4
] _ SUBMITTAL PHASE
~ T L . . . . . © . . . . . . - _ . . . _ -1 - - - - . _. DECEMBER 18, 2013
< __@ 9“ Ao . @ . 5 . _ e e T | @ . SUBMITTAL DATE
| . .\ AX6.7 /.| . _.I ST o 7, - _ . . _j B / lo._.xd_m< DS MHS Jorw MHS e MHS
_ _
. . S gt .o . A . | R ) . m
_ . _ . Am X;m _m<
@l @ L@ 1 L e @ ¥
| A ® D .99 o 1
| . S _| _.- e e e e e e e e e e e I.“I N R B ._. _uO_nﬂ>.Z._.ijZ>ﬂ . . . . .N & m
_— . \ . F—s\ﬂl.. . . . . . . . . . . . O.FL<. <<._mm. _ . * ._ o . . . . . . . . « e O.C<.<<_.mm. . m m
. . . . o . . . . . . . . . . . . . . . . . . _ . . _. . . . . . . . . . . . . .
_. /. . _ ___ ‘GUYWIRE® = * - 4 M
) | | 4 C e o
< e - - e | " 9 L L L S I u—v|| |||||| |._I| |||||||||||||||||||||||||||||||| )
, | | — T | @ z
P
O
-
7 =
Z
] ” muu ] ” ] ”» Y
3 66 -7 == 14'+0 86 —8 | W
A N
- - 167 —4 _ _ M H
H ” \ \ 9 ” A #1#
40 (B CA 0 HE
A\ N M
pd
SUBSTRATE FASTENING SCHEDULE S Z
0 10 ZONE DESCRIPTION W W
NG 1 — PARTIAL DETAILED ROOF PLAN () DETAIL CIAXE 3 -W 8 #10 X 'L SSTL SCREWS 0% | &
>_..: SCALE: 1/8" = 1-0 5" 15' AND SEAM PLATES / BD. ﬁ m mm 0
- =
"EDGE, RIDGE, AND HIP PANELS - FASTEN AS PER FM W
(2) DETAIL C/AX4.3 - W/ 15 #10 X 2'L SSTL SCREWS T 3 Sz | S
AND SEAM PLATES / BD. _ _ M m Dmmlnn m
Ll
"CORNER PANELS (4'-0" X 4'-0" CORNERS) _ _ _ _ |~ m x = &
FASTEN AS PER DETAIL C/AX4.3 - W/ 9#10 X 2"L _ _ _ _ &
SSTL SCREWS AND SEAM PLATES / HALF BD. _ _ _ _ SCALE:
L] B AS NOTED
- STATE JOB NO.
7/ CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.
o)) kevean | AF1.1
SCALE: N.T.S.
ser 13 & 41
| | | | | | | | | | | |




8

S‘I N

\
\
\
/ _
\
AN \
b’ @ // (E) ELEC CABLE & SUPPORT TO REMAIN
,,,,,,,,,, /
\\\\ é / / ,,,,,,, / ~
/ A TTTmm—— \ —
\\\ é ,,,,,,,, / /
\\\\\\\\\ / ,,,,,’,,,,, ﬂ > // —_ _ .
@@ ———— Y S Wit pes P
7 7\ : : ~ (1) (1Y K This work was prepared by
v X N, 7\ 2 2 N\ q . .
0 %N\V. < N\Nv &/Efzv ~_ ; 0 A , 2 0 me or under my supervision
N/ -I._. NS NWv \ /

> —— \%\gg

APPR

C
D_ L
O

COURT EAST EXTERIOR ELEVATION (¢ \BUILDING 1 — EXTERIOR ELEVATION
é SCALE: 1/8" = 1'-0
. :
\ =
// »
/ SUBMITTAL PHASE
@ DECEMBER 18, 2013
// SUBMITTAL DATE
\ es MHS forw mHS Jow wmHs
\ ~~
N\ ~ ¢ :
1 X T — s m
. :
. 343 C m :
) g
- ,jj, m
s B
¥
S5
- O
1 1 HM_
@)
ool EATEAIOR ELCVATICY /B \BUILDING 1 — EXTERIOR ELEVATION =
é SCALE: 1/8" = 1'-0" Z
=
n'd
= |
z |3
O
=
o
2
5
— | o% |2
38 |<
— //Uw @ T T m _Dluw w
T = e |
@ HE ] s > Em >
. . N e : 8|
EAST EXTERIOR ELEVATION —r— = —

\©>/ FEDERAL PROJECT NO.

ZA\BUILDING 1 — EXTERIOR ELEVATION KEY PLAN AX2 .1
é SCALE: 1/8" = 1'-0" SCALE: N.T.S. .

ser 14 & 41




W\\\\\&w i
O
»

1
= —r SN 0
\/m R L S e B e B | 3
::::::::::,L,\,\\ E—————— ﬂﬂ N .@ ,”,”,”,”,”,”,”,”;1
N2 1 Y Y [T T T T T T T T 1% =
Y “ I : : [ S S
= & — = &> T ﬂ
I [ I ] . C T C T | o | —— | C T T T 1 C T 11 T )
fff,fff ”,”,,, C 1 ,,,,,,ff ”,”,”,” ”,”,”,”,,,ﬂ,,,,,f,,,,,,,,,,f,,,,ﬂ,,,,,fffff,;;;;;;;, fffﬂ;,,;,ﬂ;,,;,,;j;,,;,ﬂ;,,,fﬂ,,,”,”,”,”,,;;;;;;;,fff” ”,”;;;;;;; H:jo_mo&o:ﬁa%gw:w_\mwwmwmm%
[ —— [ e e B B s i — e B B e B B B B ) B s e uw.v,,1,,1,,1,,1,,1,,1,,1,,1,,,:,,:,,:,,:::::::::::: S s
I [ I C T T T T T T T T T T T [ T T T [ C T C T T T T T T T T T T T T T T T [ T T T [ T T [ T T [ [ [ T ] C T T T T T T T T T T T T T T T T T [ T T T T T [ [ [ T [ T [ I C T [ T T T T T 1
SRR [T LT T T T T T T T T T T TTT I SRR R S S S S S S S S e e S 0 0 S s s s o -
L T T T T 1 [ [ [ 1 [ [ 1T [ [ T [ [ T T T[T T T [ T [ 1 AN " I S s s B S s e
% @_w | oot
NORTH_EXTERIOR ELEVATION /D \BUILDING 1 — EXTERIOR ELEVATIONS m
|| | AX2.2 / SCALE: 1/8" = 1'-0" =
R
/ ,ll,ll
/ ”,”,
1 \\\\ @ l”’l”l”
0 - A@/ — 33 m
R = S H N /@ @ U S @
|- Y @ e (I _ @ 0 0 D
rrrrrrrrrrrrrr1r.rr . rrr . . @#rrrrrrrrrr.r1rrrrrrrro .1 grrrrr1. 11 1. 1 1 1rr1r 1111 @rrrr1r1r1rr1r -1 T T 1 [T T[T @C T T T T T T [ T T [ [ [ @71 C 1 5
I S Y S P [T T 7 C T T T T T T [ T T T 1 C T T T T [ T 1 N O C T T T T T T L L T L T T T [ T T T C T T [ T T T T 1 C T SUBITTAL PHASE
] - ,”,”;;;;;;;;;;;; SR ”,”; ”,”;;;;;, i ”,”,
[T ,,,,,;;;;;;;;;;; ;;;;;,;; [T ,;; ,;;;;;;, ,;, [T I Umom—/\_mmm»_m‘NOAHW
C T T T 1 ,,;;;;,,,,,,,1”;”,”,”,”;;;;;;;;;;, ”,”;;;,;;;;;;;;;, ;;;;;;;,,, ;;,;;;; C T T T 1 ”,”;;;;;;;;;;;; SUBMTTAL DATE
f,:l,_,f ,W,W,W,ffffffkﬁffff W,WLLLLLLLLLLLL LLLLLWLLLLLLLLL WLLLLLLLLLL WLLLLLLLfffff ”;;;;;;;;;;;; pes  MHS forw mHs o MHs
N7 N ——\ ]

DEPARTMENT OF DEFENSE

COURT SOUTH EXTERIOR ELEVATION ZENBUILDING 1 — EXTERIOR ELEVATIONS
é SCALE: 1/8" = 1'-0"
/A

@7 O L1~

DESIGN AND PROJECT MANAGEMENT BRANCH

o)
e
[T é 7
\ Y A — @ ! N 3 a v S~ m
0 -
Z
| | | i | | | O
3 i | —— B | B Bt B et s et e e e e e e e B et e e B e s st s e e s\ i ———— _AM
mli A | = e s s | [T e e e e et e S e e B s e v <
S B R T - e 3 R e e e e i s Z
. | A B | B T T T T[T T T T T T L L L A T 1 L S B S L S S = =
[ O | [ | B N S x
o e N e ] EEEIEIEN IEETEIEIESE IO ETEOTIEREIIe EOEOEN <
A I N N | ] 1] AN I I I N I AN I I I I r\ 4 = /r N
{5 e =
<
I

COURT NORTH EXTERIOR ELEVATION /F\BUILDING 1 — EXTERIOR ELEVATIONS
@ SCALE: 1/8" = 1'-0"

RE-ROOF TROOP COMMAND BLDGS #1 & #2

> | 2
g |
e [ s <
_ ot
| | m < | &
1 | mm AWn S
T T _ 3 m Mlnn x
T
ne—=  5|ES |G
PN _ _ &
_ _ AHV SCALE:
_ _ _ _ AS NOTED
_ _ V_ _ @ STATE 0B NO.
_ CA-1219-D
| T | FEDERAL PROJECT NO.
E— S— DRAWING NO.
SCALE: N.T.S.

s 10 & 41




] ] ] ] ] ] ] |
o)
NG e
% e e T
-— - J ;V
A@v \\\\\\ @ TO BUILDING 6
\\\\\ NEXT DOOR ~ =
* * = @ S
Eeaean | IINESERERE Il e o o e T o T T | | ﬁ ﬁ . Il SESERERS Il SESERERs = T T ST
- =l o T T T T T T T , | N 0 AR e , . C T T T T T 1 C T T T T T 1 C T T T T T
W;;;jﬂ:ﬁﬂ:ﬁfffﬁjﬁﬂ:ﬁﬂ:fofffffff,, S S — :ﬁj:ﬁj,ffffﬁj:ﬁj:ﬁj,ffffﬁjﬁZﬁjllfffﬁ fﬂﬁu,,:n, ,ffffffﬂ,,,,fffffff,, ,,,fffffff This work was prepared by
r me or under my supervision
,:,,:,1,:,1,:,1,:,1,:,,:,1,::::::::::::, :::::::::::: ,::::, :,,::,,:,1,::::::::::::,1,:::::::::::: ,:,-:: :,1,:,1,:,,:,1,:,1,:,1,:,,:::::::::::, %
L r r v r 1t 0 I T T [ T [ [ T [ [ T [ T [T [ T [ [ T [ T 1T L T I T I I T T T T T T [ T [ [ 1 L r r v r 1t I 0 [ T T [ T [ [ T [ [ [ [T [ T [ [ T [ T [ [ T [ 1] [ Tl 1 L r I 0T 0 T T T T [T [ T [ [ T [ [ T [ T [ [ T [ f T [ 1]

N S N N N A N A N I N N N A N N X N N A N e E——
/6 \BUILDING 1 EXTERIOR ELEVATIONS -
NORTH EXTERIOR ELEVATION L= W

mw ® © © 13
AX3.2 /
| ) /|
X4
| _ |
| | | .
I
_ AN z
| SN :
_ _ é SUBMITTAL PHASE
DECEMBER 18, 2013
ﬂ @ .- ﬂ SUBMITTAL DATE

]

[l [ [T [Jal 1T

SOUTH ELEVATION BUILDING 2

/ H\BUILD

NG 1 & 2 EXTERIOR ELEVATIONS

AX2.3 ] SCALE: 1/8" = 10"

=

NORTH ELEVATION

/I\BUILD

NG 2 — EXTERIOR ELEVATIONS

AX2.3 ) SCALE: 1/8" = 10"

BUILDING 1

es MHS forw mHS Jow wmHs

KEY PLAN

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

> (%)
x | &
=
m 4 o
< ]
< o
- m = | o
: 2 < o
= - L
s > <C —
W >
g i
b =
SCALE:
AS NOTED
STATE 408 NO.
CA-1219-D
FEDERAL PROJECT NO.

SCALE: N.T.S.

AX2.3

ser 16 & 41




<~

o,

. . r/ This work was prepared by
_ _ / me or under my supervision
[—] [—] [—] [—] \ §§ f

APPR

@
N

WEST ELEVATION

/K \BUILDING 2 — EXTERIOR ELEVATIONS
é SCALE: 1/8" = 1'-0"

S © S S S © © © © ©

£ _. SUBMITTAL PHASE
/B A N
- w2 ez DECEMBER 18, 2013
m W SUBMITTAL DATE
v 1 es MHS forw mHS Jok MHS
u @

SYM DESCRIPTION

)

|
/
/

&

>

DESIGN AND PROJECT MANAGEMENT BRANCH

\L | AN AN (AT I “_! SN A AN @////Il@ @

HAWAII ARMY NATIONAL GUARD

EAST ELEVATION

/ L\BUILDING 2 — EXTERIOR ELEVATIONS
é SCALE: 1/8" = 1"-0"

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
EXTERIOR ELEVATIONS

@
FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

_ STATE J0B NO.
CA-1219-D

) &
-
-

A8, NN FEDERAL PROJECT NO.

@wﬂww&mx — EXTERIOR ELEVATIONS (B PLAR AX2.4

SCALE: N.T.S.

s 17 & 41




RS

1 7’_0”

i B W e W e WE== T

)
@
O,

A
T T T T—T T T——T TT—— T TT—TTT—TTT—T TT—T

]
/5o
&

N

S

LEXV

A

|
e e =
I
==

91/¢ TS

NOILOAS ONIATING VILdYd — ¢ ONIdTINg\ 8 /

“-Cl
il
=]

A
T TN T
=
I
U

£
Y/

=
=l
(=
=l
=
sl
NN
7/

il
A I\
H—H\—H\—\H—\H—H\—H\—\H—\H—H\WH\—\H—\H—H\—H\—\H—\H—H\—H
il

N
L
-

/
\

NN\

i
|
\
(B0
\&/

g
2
/4’””””

A
1[I
il

OISO

NN

=

[ TTTTTTTT7

T=E
]
= E
1]
~~—

NN

fl

/4

\
b

/

e

e,

VT
L

1=

ﬁm

1]
YOOI

=
g
S

(i —¢

0Ol
OISO

NN

=

IO

|

N

LeEXY

19'-6"

OIS

SN

2/

311"

OISO

NN

2

|
\
91/¢ VoS

NOILO3S ONIdTING — ¢ ONIdTING\ Y/

YOOI

NN
\

L=

IO OIIIIY

NN\

=/

Yy

15’_4” 15’—8”
12’—8”

1EXV

=T Y Y
1T
11T —
== 4

T / N\

91/¢ TS

NOILOAS ONIATING VILdYd — ¢ ONIdTING\ 2 /

« -cl'

7
%////////////////////‘////////////////2

]

SN\
1

0

Il A%

NN

//Illllll

e,
OO

NN

WII//

N
AN
2

0l

l//lllllll

OO OIII4

NNNNNN

NN

—

OO

0Ol

¢
%
/,me/;l

IIIIIIII/

NN

v

NN

N
A2\
M
_<
U
I_
>
Z

— |

LTI

AN

=

IO

NN

=75

. VI

'S'L'N :J1VOS

0 8L.I.!!B

Ly

g STATE OF HAWAI DEPARTMENT OF DEFENSE
HAWAII ARMY NATIONAL GUARB&@:

‘ON ONMVYQ

- FACILITY MANAGEMENT OFFICE AND PROJECT MANAGEMENT BRANCH

31va VLLINGNS

‘ON 80F 3LVLS

d31O0N SV

RE-ROOF TROOP COMMAND BLDGS #1 & #2
WAIAWA ARMORY

°ON 103r0dd VA3a34

a-6Lcl-vo

Z£29 ‘oN
103LHONY

IVNOISSIH0ud
%;;s N3O

| EXV

BUILDING SECTIONS

SHN o] sHW mag] sHW s

€10¢ 81 439iNao3da
ISVHd TVLLINGNS
(7o |

uoisintadns Aw Jspun Jo aw

Aq paindeud spm Jom Ssiy|

SYM DESCRIPTION DATE APPR g\




|
|
T i T
=I=EI=IE === —_
1 N [ N 7T TN
s N - I i [
Ly, o e NN
AL, Sl | X
R - ) T /
T = = T \
< o == 3 o> N —
S Inlly & P/
LTl oo iy
EI=EIEE HT=ITHY
8| = ES <o)
= Il . |: IESHESIE N
= I Lo Iy
P (S %= [k
Y pumm— <= T=T=TH
iz T S o
=[G L Tt
NG ™ oo}
I i
| X ol 23
_ = o3
D Lo o T a2
— il = ﬂ@g@m‘ : g
r s !@gﬂw | =
O PRI | @ . L&[0)
= | o 2 L
S | 3
T QPRI 4
98) e — i &
m =l o1 S
o 1 S =
= i =
= s ==jjE==] |
S I - ol 3
= == =
= ==l i m
an o IgInI
L Ity
o o T
oy i T
s M B
i N S \
s | MAN- ®
gl Tl N /
il ™
i -
E=ll
1] [ N
= NN R0 L —
‘ /
\ |
i A . 33-2"
1'—6”
L
Il
Ly
Il s
AT [
T s N8 M Y —®
SIT=IN \
z \ /
S <
Il
==
82 o
= [0}
Wl
SO L
QA= =TI}
S I
2 [
e
i
ﬂﬁ%ﬁ%\
R
D I -
— i =
— P
o [
p— plE=llE=l]
% -1
=i ~
% -
Ml ==
O [
=5
— [0
O |k
Z [
Ll
o Lt
I
Tl
S L
L
Iyt
[E=II==]I;
-1
@’ s D
| > [
..mnmllllllll(llllllm/}//m]//////////// @
— = Lol e / —
AP I S— & / A
=Ml ] — — NANNwa \
— L
n< © NN —e
5o || ' N\
wlir ] ~ — éb
> S
Z gy S iy 3
<
- - 3 3’_1 ”
1’_7”
: % g E g STATE OF HAWAI DEPARTMENT OF DEFENSE | % | & 2 >
R > I IR P Tep—p—" HAWAII ARMY NATIONAL GUARD 2lo 3 e
© >< 3 2?5(,, DESGN AND PROJECT MANAGEMENT BRANGH |25 | T & o2
8|8 7|3 | RE-ROOF TROOP COMMAND BLDGS #1 & 7| m 7 c S
s %) Ble | WAIAWA ARMORY i B a2
| | m -9
Z X ’ 3
= NO BUILDING SECTIONS = | %\ ZE
=l |8 23
@ (3 SYM DESCRIPTION DATE APPR g\ g;




=
=
i .
{g _____
L -
mL EIEN
il \
\
iﬂ! =1 ;‘ﬁ[ |
el = |
T ST : .
=171 T L T :7L*
LA |
SN I
' I
:‘ :*M: ‘: — — :*m: m,
- ———- |
~ 0 ah )
s AL R
” < -
wlo | T = T 7D
= o~ :ME*QEH / \
= (- : T = o T [
= \ W
N r = Wy N =[>
3O N \E
=
+5
=
|
™ .
- %>
B s N
O =
~ 2| N
= - )
O = X
< —
% 3O
= 0| ==
O =
— 2
S —
—
=Tl | = -1
i Sl I
o =TT H\Q:
- O H\L} LA
- I
- \
T I=Il; — Il U
ik —
5 O
+ ==l LG — = Q:H\Qf
ok =
@
=2 =] = = *\HQ—
~-4L O IS -
M \ | \
il S \
— — %
I oL O
T =
=T NN I [T
IS NSNS T=T=
NNN o
L =
:mzim = E*Q: Mi
~
M= = ELME\ il W N *METQ:\ |
HEliisn = il N ) 00
il o i A1
Al —— SIS LT
i Ly R i adl
15 ——— i Sl
r% - - I
::‘EW*:H — — = EW:EEE:
ol I \ iy = e sl ol
e o
- | ; TN
= i) | T . <
I = ! S| O > Sl
15 Nt ' | W e I ——
I NNNNS | i — ———-
sl SINNNNS ! M = e
o Ca [T
» ——— ;' \ \ LI
T / ﬁ“ @:m%m N / | ‘ﬁ‘ \ i :
TN |
= S TTTTITTITITIRN i : |
m|= T |
- =] \Qf\ = ==l ‘mf\ I = =R =E =
3o I i g
N Pt :\;[E:mz ——
= - .
I -—X
. =
==l \Q*ME\’ TQ:\ | \J*M
il
|
o
=
— gl
et
e
S
>
i i il
2 o\
2 (s
= 8@ [
O M= ‘:Q M=}
Z < I_ E‘m: =1
~ -,
‘:*METM:\ — |
o ﬁ:m!—Mz n = = m:mg
= ‘:—METQ:\ — |
|G
;T::J5f7 s fE*::l;
* ~ —
=] ész ;Tm:\ \ \Q—
éﬁ -
h ’:‘:”‘:LM: | =] ”:‘:H@* /
adh : \
o0 S \
> L AT ] i ,
~-4 - Nl %
ST —
[0 ——— =]
T o S S
T —— == =0
TN sl — =
il LT \ ¢
= _ :E \ 7::J57i
I I NN \ 92, %
T TT rm [T
= HQ*\H NN I *M:mm—m
T | @
Ii: | —
L3Iy | o
TS | =
N ] | [ET-1]
T —— | L o
T — [ET-1]
gmg— —— | =l el
- /’ - ©
-7 '
L N
‘:\HM* W !
= :
E@) ol
i ) :
U | \Q:m
: ~ &
=1 \Q:ME
N 2 :QEWQ:
| B il g A i \
= 8 n g STATE OF HA
1 ‘ o
2ls ] & FACILITY M,
Qo -l el [T A
'E = «'D) 9 RE-R OFFCE |\\y\ \
m - :fiziii I
Qo ; IWAIAWA ARMOT HA \ ‘
A ARM P COM WAII A :ME‘WQET )
DESIEN AND PROGECT ARTMENT OF DEFENSE é o
MANAGEMEN %|g
TERANCH |2 Jlo g
Ilg| M =,
5 2
2 E Z
£ @
» m
[«] m \
7l |
= |3 35
- SYM < i ;
DESCRIPTION § =~
=
DATE g-@ 5 2 § C




NEW 12" X 12" PENETRATION
7N
/ //
/ \
N\ \ f - — ||f f \ f
o — —\ T 1 o I P ° \ ] °
| | ./ ) 1 ) 1
o o \ / o o o o
o o I./,nl\\\ o o o o
6” 6
1'-8"
1"—-6 3 -0 3-0 1-6

(E) 3-1/2" THK CONCRETE
TOPPING W/ WWF 6 X 6 X.
W2.9 X W2.9 (V.I.F.)

|
|

_ (E)#4 @ 16" O.C. (V.L.F.)
_ L

|

T N \ : -
RN n— / \ 2 / \ > / = = \ﬂ’
o _ _ / , Q/ (E) 5 - #8 (231K) WIRE (V.I.F.)
L /”AM\ | | /Ml\u\ ,Wb\ 1] (E)#B8 @ 10" O.C. (V.I.F.)
% \ ﬁ L (E)4 - 1/2" @ LOW RELAXATION
u\_ S , STRANDS PER WEB
1'-8"
1'—6 3'-0 3'-0 -6
b
/ANEXISTING 12" TRITEE PENETRATION CROSS SECTION VIF
é SCALE: 1" = 1"-0"
— NEW 12" X 12" PENETRATION
\\\\..
/
/
{
TN E Sl s S
=_ = .— \ [ -/» ° .0
. \
| N
oo S =
/.
1’—-8"
1'—6 3'-0 3 -0 7\ 1"—6"
\_
(E) 3-1/2" THK CONCRETE
TOPPING W/ WWF 6 X 6 X.
W2.9 X W2.9 (V.I.F.)
] | E)#4 @ 16" O.C. V.L.F.
] ~ . _ y ﬂA ) #4 @
— \ ] [ ] [ =
S IS 2 { i e > T f 2 %’
. ' _ . (E) 5 - #8 (231K) WIRE (V.L.F.)
o | | | (E)#3 @ 10" O.C. (V.I.F.)
— “” ,._MM: i
/olk\ 3" i\ 5 Ve of | 1]
7 E L (E) 6 - 1/2" @ LOW RELAXATION
g STRANDS$ PER WEB
1"—6 3'-0 3'-0" 1"—6"
\_

/ BOEXISTING 18”
é SCALE: 1" = 1"-0"

TRITEE PENETRATION CROSS SECTION VIF

_ NEW 12" X 12" PENETRATION
P REMOVE SECTION OF #8 WIRE CUT
\ CUTBACK 1" FROM CONCRETE
/ \ SURFACE AND PATCH CONCRETE
l \
= (Eem =
: : — —— \ ) T — : L
7 | \ 7 7 l)lp
) ) \ \ / / ) ) \
| 1] N i | 1]
. _ . /,ll\\ . .
o O ‘_.| O: o O
2’-0’
V.IF. a1
4-0
\_
— (E) 3-1/2" THK CONCRETE
o TOPPING W/ WWF 6 X 6 X.
, 10 W2.9 X W2.9 (V.I.F.)
| |
[ [
— | | | — —— —— °
w . . I——q -lpo‘l . q *— * . . 2 d . . —2 \ a
| | | ||
] | LAmv 10 - 1/2" @ LOW RELAXATION
|olof | L] ]&  STRANDS PER WEB
.00 16
o|o0 16
L |
2'-0’
4-0

/CN\EXISTING DOUBLETEE PENETRATION CROSS SECTION VIF

AX4.1 / SCALE: 1" = 1'-0"

ﬁ (E) #4 @ 16" O.C. (V.L.F.)

ﬁ’ (E) 5 - #8 (231K) WIRE (V.L.F.)
(E)#3 @ 10" O.C. (V.I.F.)

8

v 5
B

This work was prepared by
me or under my supervision

\%&\M@@?

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
5 3
3
"
2
of
e
<
2
Q)
-
<
pd
O
T
<
pd
>
=
e
< N
A”n +
o3
< | -
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
{EE
o
- Z
LL
15 |
s o | 3
:F 2|l x< =
FluZ O
& = HN] ]
x=
B w »n
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

AX4.1

ser 21 & 41




(E) MASONRY WALL

(N) 3"9 SHT. MTL. LEADER

(N) LEADER BRACKET

SEE DETAIL b
\1%8/

(E) MASONRY WALL

(E)D.S.

R

/C\WALL SECTION o

>

AX4.2 | SCALE: 3/4" = 1'-0"

AX5.9

(E) DRIVEWAY

— (N) TPO ROOFING OVER COVER BD

OVER INSULATION OVER SUBSTRATE
BOARD OVER UNDERLAYMENT OVER
(E) WOOD DECKING.

77777 707

[ ——— ]

= -

(N) 3" @ SHT. MTL. LEADER W/
HANGER BRACKETS.

(N) LEADER BRACKET

SEE DETAIL b
\58/

(E) 3"@ D.S.

(E) CMU PARTITION

(E) CONCRETE WALKWAY

L1 %\ L1 L1 L1
/B \WALL SECTION

AX4.2 ] SCALE: 3/4" = 10"

0

(N) ROOFING OVER COVER BOARD
OVER INSULATION.

b

(N) FIXED CAGED LADDER

(E) CMU PARTITION

— (E) STRUCTURAL CONCRETE

FLOOR

(N) FIXED CAGED LADDER

(E) CONCRETE ROOF DECK

16'—4"

/AN\WALL SECTION

AX4.2 /] SCALE: 3/4" = 10"

0

V.L.F.

O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
WALL SECTIONS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AX4.2

ser 22« 41




— (N) TPO ROOFING OVER COVER BD

OVER INSULATION OVER SUBSTRATE
BOARD OVER UNDERLAYMENT OVER
(E) WOOD DECKING.

-

L
(N)

HANGER BRACKETS.

~N

4" @ P.V.C. LEADER W/

PAINT TO MATCH EXISTING.

(N) TPO ROOFING OVER COVER BD
OVER INSULATION OVER SUBSTRATE
BOARD OVER UNDERLAYMENT OVER
(E) WOOD DECKING.

(N) 4" @ PVC D.S. - PAINT TO MATCH
(E) ADJACENT SURFACE COLOR.

(N) CLEANOUT

PAINT TO MATCH EXISTING.

SEE DETAIL b

— (N) 4" C.l. SUB-DRAIN PIPING

(E) SOFFIT —

(N) 3" @ SHT. MTL. LEADER W/
HANGER BRACKETS.

9'—4"
V.LF.

(E) 3" D.S.

_\ (E) DRIVEWAY

T

/B \WALL SECTION © 2
é SCALE: 3/4" = 1"-0" 1
1’=0" 2’'-0" 2’'-0" 2'-0" 1'=0"
9
o) -0 0 - ©
i
7 7 7
0 -9 - 0 — o)
5
R

8 FASTENER W/ PLATES PER 4' X 8' SUBSTRATE BOARD

¢\ SUBSTRATE MECHANICAL
é SCALE: 3/4" = 1'-0"

NOTES:

1. MINIMUM SCREW FASTENER PENETRATION INTO STRUCTURAL WOOD

2.

..m_o (E) CMU PARTITION
(E) CONCRETE WALKWAY
— 111 =] === ==
—1|
I | | | |
/ AN\WALL SECTION © 2
é SCALE: 3/4" = 1'-0"
1" 3'
1'-0" 1'-6" 1'-6" 1'-6" 1'-6" 1'-0" 1'=0" 1'=0" 1'=0" 1'=0"
5
.
O O O O O O —o0— -0
7 7 7 7 7 n 7 7
.
O O O O O O- —0— -0
5
7 7 7 7 7 ._u 7 7 7
O O O O O O —©0— -0
5
R

15 FASTENER W/ PLATES PER BOARD

FASTENER PATTERNS

DECKING BELOW - 1-1/4".

THRU (E) WOOD DECKING.

REMOVE AND PATCH ALL EXPOSED NEW SCREW FASTENER PENETRATIONS

3.

FASTENERS/PLATES: FACTORY COATED STEEL FASTENERS AND METAL
PLATES COMPY WITH FM GLOBAL 4470, DESIGNED FOR FASTENING SUBSTRATE
BOARD TO WOOD ROOF DECK.

9 FASTENER W/ PLATES PER HALF BOARD AT CORNERS

O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
Es  MHS |orw MHS

CHK MHS

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY
WALL SECTIONS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

DRAWING NO.

AX4.3

ser 23 & 41




(N) SOLAR TUBE

(N) SOLAR TUBE

e — -

=1 2

| EB ON ALL SIDES.

TPO FLASHING
\ SEALANT

o © S © O i Py © X
o N\
\
] _ [ _rv:_
U 2X6 TREATED NAILERS W/ 1/2" X 5"L e
EB ON ALL SIDES.
TPO FLASHING
—‘mm>_|>z._.
Y\ /7 \N /7 \N /7 \N/7 N/ \N/7\N/7 N/ N/ N/ \N/7 N/ N/ N/ \N/7\N/\N/7\N/7\N/7\ /N —]
4 S e R O B
1 i oS0 teteele 2000020202020 202020 2020
= = “““ 0262626202620 2602026202620 2020 20 2 =i
7M7 Mi =
=) I=
| | =N
@uu m @vu
m' - m'

SEE PENETRATION DET. B

X1/

WITH BENDS TO CLEAR (E) MECH & ELEC
SYSTEMS.

—— (N) 1X4 NAILER

(N) SOLAR TUBE SECTIONS AS REQUIRED

—— (N) WATER RESISTANT 5/8" THK GYP BD PANEL
FINISH TO MATCH EXISTING CEILING.

NEW SUSPENDED GYP BD CEILING
AS REQ'D TO INSTALL NEW WORK

DETAIL @ SOLAR TUBE
[ A\@ SHOWER & LATRINE RM 202

AX5.1 ) SCALE: 3

L (E) SUSPENDED GYP BD CEILING

MTL FRAMING @ 16" O.
(E) ADJACENT SURFACE.
|

—— (E) ACOUSTICAL PANEL - MODIFY TO
AND TRIM OF (N) SOLAR TUBE.

—— SEE PENETRATION DET. b

X1/

— (N) 5/8" TYPE X GYP BD ON 1-1/2" X 20 GA
. PAINT TO MATCH

ACCEPT MOUNTING

DETAIL @ SOLAR TUBE

/B\@ ASSEMBLY RM. 101
@mgm 3

2X6 TREATED NAILERS W/ 1/2" X 5"L

o:

w:

m-

k ﬂ vooooooooooooooooooooo‘ooooo‘ooooo‘ooo‘o‘o

Y
\\\mmmn

This work was prepared by
me or under my supervision

\%m&\‘m\g,

APPR

DATE

@:

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AXS.1

ser 24 & 41




. ‘]
5 §\\N‘\\N\\%
O

(N) PREFABRICATED SAFETY LADDER .
EXTENSION PRE—FINISHED COLOR: (N) SOLAR TUBE
SAFETY YELLOW

PREFABRICATED ROOF HATCH W/ ———
\\ 1 1” RIGID FIBERGLASS INSULATION L 2 N
< .
m,|MI| (N) ADHEASIVE APPLIED TPO ROOFING Al
K\m\\\\\\\\\\\m\l OVER COVER BOARD OVER INSULATION e 2X6 TREATED NAILERS W/ 1/2" X 5"L
OVER (E) CONCRETE ROOF DECK. EB ON ALL SIDES.

: This work was prepared by

TPO FLASHING me or under my supervision

\mm>_|>z._.

APPR

DATE

\/\

(E) CONCRETE CEILING

B o
O 3
f (N) SOLAR TUBE SUBMITTAL PHASE
(N) PREFABRICATED SAFETY LADDER = SAW CUT (N) OPENING IN REINF CONCRETE DECEMBER 18, 2013
EXTENSION PRE—-FINISHED COLOR: : ROOF DECK SUBNITTAL DATE
SAFETY YELLOW 7 es MHS forw mHS Jok MHS
L (N)5/8" TYPE X GYP BD ON 2-1/2" X 20 GA
MTL FRAMING @ 16" O.C. PAINT TO MATCH m m
PREFABRICATED ROOF HATCH W/ — (E) ADJACENT SURFACE. &
1” RIGID FIBERGLASS INSULATION . & m
0 | i3
"
‘ - \—vl@-v _ w
7 of
1 i <
¢ S
“ 3
7 2
z
A 7 DETAIL @ SOLAR TUBE 5
Wl — (1) TERMNATION A% W/ (8 \(STAR 1 & STARR 2) 5
= “_u © AX5.2 ) SCALE: 3" = 10" S
% (N) ADHERED TPO FLASHING —(N) TPO MEMBRANE ADHERED TO =
1/4" X 1-1/2"L COVER BOARD ADHERED TO RIGID
_.mo mo_.qw\n PER (N) SEAM PLATE W/ FASTENER INSULATION ADHERED TO STRUCT gl Y
SIDE @ 12" o.C. CONCRETE DECKING. < | o
CAULK AWn T
T 13
NN N VN N N N VN VY N VN VY VY VY VN VYV VA D
oS atetasatstatatstasatetatatatats! _ 1X4 TRIM — PAINT TO (N) 2X6 TREATED NAILERS W/ - 2
S S ey (D MATCH u&m..e X 3—1/2"L MIN. EB L o
agegetetesetesesetese0etese00s a0 @ 4-0" 0.C. & 12" FROM z
9a0202020202020202020202020202020; 8 | cAULK ENDS OVER UNDERLAYMENT B <
= STAGGER NAIL @ 8" 0.C. = =
E ADDITIONAL LAYERS OF 5 o)
z 2X4 NAILERS W/ #9d RING = O
< = O SHANK NAILS = &
HEE
¥
=<
L
(N) FIXED CAGED LADDER 3 m 9% | o
< =
SEE DETAIL A/AX4.1. = Z|1%2 | =
(E) CONCRETE ROOF DECK ! m x = e
B =
SOHLE AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.
/AN\DETAIL @ ROOF SCUTTLE
AY5.2 J SCALE 3 = -0 o3 o ) >Xm N
ser 20 o« 41




TERMINATION BAR W/
1/4"d X 1-1/2"L HD FASTENER

eEes //

NI
=

]

\
va

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

SEAM TAPE

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION OVER
(E) CONCRETE DECK. /

7

~—

PRE FINISHED CAP FLASHING
WITH CONT. CLIP W/ #8 X 1"
SCREWS @ 12" O.C.

EPDM OVER BONDING ADHESIVE
OVER (E) CMU.

SEAM TAPE

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

/ AN\DETAIL @ PARAPET

AX5.3 / SCALE: 3" = 1'-0"

_

(E) CONCRETE SLAB

(N) 2X TREATED NAILER W/
1/12"0 X 5"L EB @ 32" O.C. &
12" FROM ENDS.

EPDM OVER BONDING ADHESIVE
OVER (E) CMU.

SEAM TAPE

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"d x 1-1/2"L I_<_D_N”O

ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE T

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION OVER
(E) CONCRETE DECK.

/B \DETAIL @ ROOF

AX5.3 / SCALE: 3" = 1"-0"

— (E) CONDUIT - W/ CLAMP OVER
2X6 TREATED PAINTED SUPPORTS
@ 4'-0" O.C. MAX SPACING

(E) INSULATED CONDENSATE
DRAIN OVER 2X6 TREATED
PAINTED SUPPORTS @ 4'-0" O.C.

MAX SPACING. PROVIDE PROPER

HEIGHTS FOR DRAINAGE.

2

O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

I
Ul

Tl
[

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

/ cO\DETAIL @ CONDENSATE DRAIN & CONDUIT

AX5.3 / SCALE: 3" = 1'-0"

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
Z
O
T
<
Z
>
=
e
< N
A”H +
o3
< | <
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
Bl ez
o
- Z
LL
R EE
o %)
2 3|l |2
s Z|lw |5
x= | &
E =8 (@]
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

AX5.3

ser 26 & 41




=78
O

(E) MECHANICAL EQUIPMENT
SUPPORT FRAMING TO REMAIN.

X
98
KK
\i

9
%
X
L

SRR

|
| |
| |
| |
) | |
| |
| |
] I\ REMOVE (E) "PITCH POCKET"
/7 1R HOOD.
7 | Il '\
(E) CMU \\ _ _ //
,/ | | \
““ SEALANT i \\ _ _ \ POURABLE SEALER
““‘ TERMINATION BAR W/ 4 ADHESIVE APPLIED / | |
““ 1/4"@ X 1-1/2"L HMDR FASTENER TPO MEMBRANE OVER ,/ _ _
S &mos T e BORRD , .
““ - ADHESIVE APPLIED OVER Y | |
““““n‘m . WITH SEALANT ADHESIVE APPLIED INSULATION | | PREFAB PENETRATION This work was prepared by
““‘ _ | POCKET - TPO COVERED me or under my supervision
““‘A WATERBLOCK ADHESIVE APPLIED . | | ALUM FLASHING .
““‘A SEAM PLATE W/ #8 X 1-5/8"L TPO MEMBRANE OVER TPO FLASHING W/ SEALANT AT S _ | | \%\A\\m\g
| SCREWS @ 12" O.C. MAX (E) CONCRETE EAVE EDGES g wawawawewawaweawawawy | | ~
““¢ w WELDED SPLICE #8X1'L @ 12" 0.C ““““““““““‘. | |
XK ¢ el | X
OIS sseeleseielecesr = = I |
00 9.0.9 z =
% : E

DATE

(N) PREFINISHED TPO TREATED
EDGE FLASHING W/ CONT CLIP.

W/#8 X 1"L @ 12" O.C.

SEALANT
(E) CONCRETE EAVE

AN\DETAIL @ OVERHANG (C\DETAIL @ PENETRATION POCKET
@ SCALE: 3" = 1'-0" é SCALE 3" = 10

DESCRIPTION

SYM

SUBMITTAL PHASE

COLOR COATED EPDM OVER DECEMBER 18, 2013
BONDING ADHESIVE OVER SUBMITTAL DATE
(E) CONCRETE PARAPET. COLOR s WS Jow wns o WS
TO MATCH (E) SURFACE. m m
“ =
SURFACE MOUNTED RACEWAY g m
WELDED WIRE STAINLESS STEEL MESH SCREEN WHERE OCCURS REMOVE AND =z 2
REINSTALL TO COMPLETE (N) B 5
WORK. m
2
__M.Il ||1u_ ©)~— STAINLESS STL DRAW BAND mm
<C
SEALANT )
0]
STAINLESS STL DRAW BAND =
EXISTING PLUMBING VENT PIPE EXTEND AS REQUIRED pd
_ CLEAN, PREPARE, AND PAINT WITH ZINC RICH PAINT O
PRIOR TO INSTALLATION OF TPO ADHESIVE AND >
_ TPO FLASHING >
_ i >
ADHESIVE APPLIED TPO MEMBRANE /FLASHING w w
<
_ ADHESIVE APPLIED TPO MEMBRANE/FLASHING 2y COLOR COATED EPDM OVER COLOR COATED EPDM OVER — | &
_ SEAM PLATES W/ #8 X 1-5/8"L SCREWS BONDING ADHESIVE OVER BONDING ADHESIVE OVER AWn o3
2X6 NAILER W/ #10 X 3—1/2"L SCREWS (E) CONCRETE PARAPET. COLOR (E) CONCRETE PARAPET. COLOR = 3+
@ 12" 0.C. _ TO MATCH (E) SURFACE. TO MATCH (E) SURFACE. T | o
WELDED SPLICE Q
INSULATION _ N.z__q. -
A i o
S R — SURFACE MOUNTED RACEWAY <
IO e asasasasasssososcscsonss WHERE OCCURS REMOVE AND =
Es2efe2e2e20202e2020 202 REINSTALL TO COMPLETE (N) Q
I_|_I-I O
- WORK. 5 >
1 S
O O
Bl 22
=
L <
o<
- m o= | «»
| 2 2|0z |2
= (1T}
W(\O \ m 5 x a
. (E) WOOD DECKING ) _ 5 =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D

PENETRATION DETAIL SIM. (D \DETAIL @ PARAPET MOUNTED ELEC CABLES AND RACEWAYS e
/8 \DETAIL @ PLUMBING VENT (P64 ) SOhE 5 = 70

AX5.4 / SCALE 3" = 1'-0” P 1 r 1 >Xm h.

DRAWING NO.

ser 21 & 41




TERMINATION BAR

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

WITH SEALANT

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

SEAM TAPE

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"9d x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION OVER
(E) CONCRETE DECK. /

MIN.

LTS
o
e —

W‘w“ﬂ‘ﬂ. Up‘.‘.‘.‘.‘p‘.l“f.l.‘.l.'ﬂ/”- e
-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-ﬂ-“-mmmw-“mm“-mn”ﬂ-“
o letete e e 0200202000
IO e e e e eces
10500 0S e 8S0S6T0S0T0S0T0S0NE

{
0000020205020 20200

e ——

/ AN\DETAIL @ PARAPET

AX5.5 / SCALE: 3" = 1'-0"

p ANCHORS @ 12" O.C. MAX SPACING

ADHESIVE APPLIED

TPO MEMBRANE OVER
1/2" COVER BOARD
ADHESIVE APPLIED OVER

ADHESIVE APPLIED INSULATION

TREATED 2X6 NAILER W/
#10 X 3"L GALV SCREWS
@ 12" O.C.

TPO COATED EDGE FLASHING.
W/ #8 X 2" GALV SCREWS @

12" O.C. ] 2a®

E

FACIA OUT OF TREATED 2X12
W/ #10 X 3"L GALV SCREWS =A==

@ 12" O.C. MAX SPACING

(N) GUTTER /

SEE DETAIL }
\68/

(N) 3" PVC D.S. W/ D.S. BRACKETS
PAINT TO MATCH EXISTING

TERMINATION BAR (TB) W/
3/160 X 7/8"L HAMMER DIVE
FASTENERS @ 12" O.C. MAX
SPACING

(N) D.S. BRACKET ———— ©

TPO OVER BONDING ADHEASIV

SEAM RPLATE W/ 3/16"d x 1-1/2"L HMDR

ADHESIVE APPLIED
TPO MEMBRANE OVER
1/2" COVER BOARD
ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION

MIN.

WELDED SPLICE

—— (E) 4X6 T&G DECKING

(E) CONCRETE DECKING

/B \DETAIL @ ROOF
é SCALE: 3" = 1'-0"

(E) STEEL FRAMING

(E) 8" CMU PARTITION

o: “W-_ m:

@:

\/

2
o
\/
7
s
%

=78
O

—2
v

)

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

VI
o
o)
m =
o
<
; §les
(@)]
: 2|l |2
=
s <C [
= W Ll
E 3 o
5 =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

AX5.5

ser 28 & 41




ADHESIVE APPLIED
TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION

e () ‘- -‘-‘-‘-‘-‘-‘
e A UAVAVANS e

2X6 TREATED PLATE W/
174" @3 X 3"LEB @ 12" O.C. W/
2X6 NAILER W/ #10 X 2-1/2"
ALTER. @ 12" O.C. MIN.

MIN. 2 PER SIDE.

W w
N W w

MIN.

e e

(E) CONCRETE SLAB

/A \DETAIL @GUTTER

AX5.6 / SCALE 3" = 1'-0"

——— TPO COATED EDGE FLASHING

(N) GUTTER p
SEE DETAIL é

(N) 2X12 TREATED WOOD
FASCIA W/ 5/8"@d X 5" L
EPANSION BOLTS @ 4'-0"
O.C. MIN. SPACING.

EXTEND AND MODIFY (E)
LEADER TO MAKE CONNECTION

— ADHESIVE APPLIED

TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION

#8 GASKETED ROOFING

SCREW @ 12" O.C.

e
““““““““‘ =

MODIFY AS REQUIRED TO REINSTALL

(E) INSULATED DUCT.

I g g

CURB OUT OF (N) 2X6 TREATED

(E) DUCT - EXTEND AS REQUIRED

FOR CONNECTION

j (N) CURB FLASHING 0

MIN.

SEAM PLATES @ 12" O.C.

SEAM STRIP

TPO ON BONDING ADHEASIVE
SEAM PLATES @ 12" O.C. OVER ©

MIN.

e
YT eYeTaYe
9% %% % %

2X6 TREATED PLATE W/
174" 3 X3"LEB @ 12" O.C. W/
2X6 NAILER W/ #10 X 2-1/2"
ALTER. @ 12" O.C. MIN.

MIN. 2 PER SIDE.

;

e e S0 0 0 W/ WV WV W0 W W W
TN W W W W W W W W W W W W W W W W W W W W W W W

(E) CONCRETE ROOF SLAB \_

PENE TRATION

/8 \DETAIL @ DUCT/VENTILATOR
é SCALE 3" = 1’0"

2

]
3
O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
Z
O
T
<
Z
>
=
e
< N
A”H +
o3
< | <
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
Bl ez
o
- Z
LL
R EE
o %)
2 3|l |2
s Z|lw |5
x= | &
E =8 (@]
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

AX5.6

ser 29 &

41




EXTEND TPO INTO BOWL
1/2" 10 3/4"

PUNCH HOLE FOR BOLT
THRU MEMBRANE DO NOT

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO STRUCT
CONCRETE DECKING.

TPO MEMBRANE OVER
BONDING ADHESIVE

CUT TO BOLT

12
WATER BLOCK
SEALANT 1 MAX SLOPE

12
WATER BLOCK
MAX SLOPE 1 SEALANT
il
R%1z= AT
= =
B =
|| ||
|| ||
|| ||
|| ||
e T
ﬁ/\
7 ANDETAIL @ ROOF DRAIN
AX5.7 ] SCALE 3" = 10"
———— REMOVE (E) OVERFLOW
SCUPPER, AND FLASHING.
TO RECEIVE (N) DRAIN.
—— REMOVE (E) ROOFING,

COVER BOARD, INSULATION

DOWN TO (E) CONCRETE

DECKING.

| |

) (Hi
a0a0gsgsgececececesesel
a@a0a02020202020200011

egesegeg0ce 0050003 0"

4
‘

S eceseseseseseseseves

_
i
Il
Il
1

A

e

—J

(E) ROOF DRAIN BODY

(E) CONCRETE ROOF DECKING

(N) ZURN 2127-E MODIFY ——4
(E) PIPING TO RECEIVE

NEW DRAIN

TPO MEMBRANE OVER
BONDING ADHESIVE

REMOVAL DETAIL

/B\DETAIL @ OVERFLOW

(E) CONCRETE ROOF DECKING

EXTEND TPO INTO BOWL
1/2" TO 3/4"

—— PUNCH HOLE FOR BOLT
THRU MEMBRANE DO NOT
CUT TO BOLT

é,__

A WATER BLOCK
\ \ SEALANT
|

-
{
et eletetetet et et
stetetetetetetetete
LIS

il

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO STRUCT
CONCRETE DECKING.

2

]
3
O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

NI

|

AN
i
TI

AN

%ﬁ

(E) CONCRETE ROOF DECKING

RENOVATION DETAIL

DRAIN

AX5.7 / SCALE 3" = 1’-0"

h
(E) CONCRETE ROOF DECKING

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
pd
O
T
<
pd
>
=
e
< AN
A”H +
o3
< | <
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
Bl ez
o
T
n <
R EE
O n
2 3|l |2
= 1
B 3 x = (=
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

AX5.7

ser 30 & 41




(E) PAINTED CONCRETE/CMU

SEALANT

TERMINATION BAR W/ 3/16"@ X 1-1/4"L

MAS FASTENERS @ 24"0.C. MAX SPACING

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

ADHESIVE APPLIED TPO MEMBRANE,

) COVERBOARD AND INSULATION OVER
X_w AvaOZO_Nm._.mDmO_A.
m
_

(E) CONCRETE DECK

/AN\DETAIL @ ROOF
@ SCALE: 3" = 1"-0"

16 GAUGE X 1-1/2" SST
STRAP W/ 1/4"¢ SST MB
W/ LOCK & FLAT WASHERS
BOTH SIDES

LEADER & D.S.

ﬂ mm.. ._._.__Axwld\ma<<o>_.<.w._.mm_.
BRACKET

2-1/4"¢ X 2" SST MB W/

110} T

JIIT | I

METAL EXPANSION SHEILDS

PLAN VIEW

VARIES FIELD >O..._,T._.

LEVATION

@ 3"& 4" DOWN SPOUT

=

2

/B \DETAIL @ DOWNSPOUT BRACKET

AX5.8 / SCALE: 3" = 1'-0"

3" 1'=-0"
— (N) 4" C.l. DRAIN PIPING - SLOPE AND
DRAIN TO CURB
(N) CONCRETE - PATCH TO MATCH
(E) ADJACENT CONCRETE FINISH
(E) CONCRETE SLAB
— (E) 4" CUSHION FILL
|
N v
A .

(E) UNDISTURBED NATURAL
SOIL

L (N) 4" CUSHION FILL

/cN\DETAIL @ SUBSURFACE DRAIN PIPING

AX5.8 / SCALE: 3" = 1"-0"

2X6 NAILERS W/ #10 X 37L SCREWS
@ 12" O.C.

858505050 I
l
()

V7

N Y Y
NN N

Tavavava%avevat EEETY — v wm

(E) ELECTRICAL RACEWAY - REMOVE TO INSTALL NEW WORK
AND REINSTALL. PAINT TO MATCH EXISTING.

SEALANT

STAINLESS STL DRAW BAND

EXISTING ELECTRICAL RACEWAY CLEAN, PREPARE
AND PAINT WITH ZINC RICH PAINT PRIOR TO

INSTALLATION OF TPO ADHESIVE AND TPO FLASHING

ADHESIVE APPLIED TPO MEMBRANE/FLASHING

SEAM PLATES W/ #8 X 1-5/8"L SCREWS
12" MAX SPACING

WELDED SPLICE

e N a%a%a%a%a%e %%

T
e e 00eeg800e

A
e 10 9e e %a e %a Y

(E) CONCRETE DECKING \_

/D \DETAIL @ CONDUIT PENETRATION

AX5.8 / SCALE: 3" = 1'-0’

2

O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
5 8
£ :
"l
2
of
0
<
)
O
—
<
prd
)
T
<
zZ
>
=
0
< o
A”n =
o3
= -
< H
(7p]
T Q)
o
—
o
o
Z
<
=
=
S
o
Qo
HEE
o
=<
L
o<
s m O | «»
: 2| x|
= .A =
] = L w
x =
= a8 ()]
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

AX5.8

ser 31 & 41




X

(E) CMU WALL

SEALANT

TERMINATION BAR W/
1/4"@ X 1-1/2"L HMRDR FASTENER @ 16" O.C.

ADHEASIVE APPLIED TPO MEMBRANE

10"

SEAM PLATE W/ #10 X 1-5/8"L
@ 12" 0.C.

WELDED SPLICE

==y,

TPO MEMBRANE ADHEASIVE APPLIED OVER
(E) CONCRETE DECK.

(E) CONCRETE EYEBROW \_

(N) LEADER HANGER

STRAP

(N) EDGE FLASHING W/ #8 X 1-1/2"L CONC
SCREWS @ 12" O.C. MAX SPACING

(N) GUTTER
SEE DETAIL b

\M68/

(N) 2X8 FASCIA W/ 5/8"@ X 3-1/2"L EB
@ 24" O.C.

(N) LEADER BRACKET

SEE DETAIL
/B
\%8/

(N) 3"@ SHT. MTL LEADER

/A \DETAIL @ EYEBROW

AX5.9 / SCALE: 3" = 1'-0"

2X6 NAILERS W/ #10 X 3"L SCREWS

@ 12" O.C.
INSULATION

~ N

|
\
\

p

\

A

NI

N
%
2 N _ _ _ _
\

+ |1.w_ V%N
N

" et

NVaaN

O

SEAM PLATES W/ #8 X 1-5/8"L SCREWS
|

WELDED WIRE STAINLESS STEEL MESH SCREEN

e
\SZ/

STAINLESS STL DRAW BAND
SEALANT

STAINLESS STL DRAW BAND

EXISTING PLUMBING VENT PIPE EXTEND AS REQUIRED
CLEAN, PREPARE, AND PAINT WITH ZINC RICH PAINT

PRIOR TO INSTALLATION OF TPO ADHESIVE AND
TPO FLASHING

ADHESIVE APPLIED TPO MEMBRANE/FLASHING

ADHESIVE APPLIED TPO MEMBRANE/FLASHING

SEAM PLATES W/ #8 X 1-5/8"L SCREWS
12" MAX SPACING

WELDED SPLICE
L N..Z__w_.

1 4

8" MIN.

|

(E) CONCRETE DECKING \_

/B\DETAIL @ PLUMBING VENT

m:

@-

AX5.9 / SCALE 3" = 1'-0"

O

This work was prepared by
me or under my supervision

\%&\M@@?

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AXS.9

ser 32 & 41




O

s
s

Thi k db
COLOR COATED EPDM OVER me or dnder my supervision
(E) CONCRETE PARAPET. COLOR -
COLOR COATED EPDM OVER TO MATCH (E) SURFACE. %\ i

BONDING ADHESIVE OVER
(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

APPR

e —
—
—
——

| SEAM TAPE SEAM TAPE
|
TPO OVER BONDING
COLOR COATED EPDM OVER ADHESIVE. TPO OVER BONDING
BONDING ADHESIVE OVER ADHESIVE.
(E) CONCRETE PARAPET. COLOR SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
TO MATCH (E) SURFAGCE. ANCHORS @ 12" O.C. MAX SPACING COLOR COATED EPDM OVER

DATE

1’-0"
1'-0"

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR BONDING ADHESIVE OVER
WELDED SPLICE ANCHORS @ 12" O.C. MAX SPACING (E) CONCRETE PARAPET. COLOR
ADHESIVE APPLIED TPO MEMBRANE, TO MATCH (E) SURFACE.

DESCRIPTION

COVERBOARD AND INSULATION OVER wwamm_m/w\w %M%_\.y_mw _qzn%_%w_,_\_w_mw_ﬂ_\_wm

E) CONCRETE DECK.

N (E) CONCRETE DECK. WELDED SPLICE m
/ SUBMITTAL PHASE

DECEMBER 18, 2013

_||||||||||| |
_ SUBMITTAL DATE
_ es MHS forw mHS Jow wmHs
TERMINATION BAR W/ _ TERMINATION BAR W/
1/4"@ X 1-1/2"L HD FASTENER _ o= = - 1/4"& X 1-1/2"L HD FASTENER m
@ 18" O.C. _ ’ @ 18" O.C. W £
_ <l amin = m
_ \ m S
| A = g 3
[T —.|| = — — — — m
2
f
(E) CONCRETE SLAB AUn
Q)
-
(E) CONCRETE SLAB ANn
o
T
<
pd
Vl
=
o
A N
A”n H*
o3
= -
< H
(7p]
T 10
a
|
m
a
Z
<
=
=
3
Q7
Q0
o)
HEE
nlia
<
: 88z |,
2 3|l |2
s x|l | 5
W] m x = _._DL
B =
SCALE:

/B\DETAIL @ PARAPET oNoTeD

STATE JOB NO.

A6/ SCALE: 3 = 1-0° 7 A\DETAIL @ PARAPET zte0

é SCALE: 3" = 1'-0"
DRAWING NO.
B AX6.0

ser 33 & 41




REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

(E) T&G WOOD DECKING

REMOVE EXISTING
1X TRIM & EDGE
FLASHING & CLIP.

(E) 2X FASCIA

REMOVAL DETAIL

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E) WOOD

DECKING

(N) 2X6 TREATED WOOD NAILER
W/ #10 X 2-1/2"L GALV. SCREWS @
12" O.C. MAX SPACING.

(N) TREATED 2X10 EDGE TRIM

W/ #9 X 3"L GALV. SCREWS @ \ —

12" 0.C. MAX SPACING /,.; , \\\\- —

TPO COATED EDGE FLASHING W/ a2z
#8 X 1-1/4" GALV SCREW @ 12" O.C. . /&,.V

W/ CONT. CLIP ¢\‘

%)

"%’
g4

ne

(E) 2X FASCIA %

%

|

\

|

NEW DETAIL

/ A\DETAIL @ FASCIA
é SCALE: 3" = 1'-0"

REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING

DECK FREE OF BUTAMIN.

REMOVAL DETAIL

(N) TPO MEMBRANE ADHERED TO —
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E)

WOOD DECKING

NEW DETAIL

DETAIL @ HIP SIM.
/B \DETAIL @ RIDGE

AX6.1 / SCALE: 3" = 1"-0"

REMOVE (E) ROOFING SYSTEM

(E) SOFFIT

(E) 2X FASCIA

REMOVAL DETAIL

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E) WOOD

DECKING
(N) 2X6 TREATED WOOD NAILER
W/ #10 X 2-1/2"L GALV. SCREWS @
l'l - - (]
n««onum«mcm? 12" 0.C. MAX SPACING.
S S T — TPO COATED EDGE FLASHING W/
— T #8 X 2" GALV SCREW @ 12" O.C.

W/ CONT. CLIP

(N) TREATED 2X10 EDGE TRIM
W/ #10 X 3"L GALV. SCREWS @
12" O.C. MAX SPACING

(N) GUTTER a
\1%65/

(E) 2X FASCIA

(E) SOFFIT \_

(N) 3" SHT. MTL LEADER

/c\DETAIL @ GUTTER  NEW DETAIL

AX6.1 / SCALE: 3" = 1'-0"

O

This work was prepared by
me or under my supervision

APPR

DATE

DOWN TO WOOD DECKING

PREP TO A SMOOTH AND CLEAN

DECK.

(E) T&G WOOD DECKING
REMOVE (E) FLASHING & CLIPS.
REMOVE (E) 1X NAILERS.
REMOVE EXISTING GUTTER
—-— g/

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

" | FAGIITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AXO.1

ser 34 & 41




REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

(E) T&G WOOD DECKING

REMOVE EXISTING
1X TRIM & EDGE
FLASHING & CLIP.

REMOVE (E) COUNTER FLASH'G

AND TERMINATION BAR

REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

ymy

(i iy

-

(E) T&G WOOD DECKING

(N) 2X6 TREATED WOOD NAILER
W/ #10 X 4"L SCREWS @
12" O.C. MAX SPACING.

REMOVAL DETAIL

_\N.. L

FLASHING _,\__j
EDGE FLASHING W/
#8 X 2" SCREWS @ 12" O.C.
(N) TREATED 1X4 NAILER _
W/ #8 X 2"L GALV. SCREWS @
12" 0.C. MAX SPACING SEALANT

TERMINATION BAR (TB) W/ e (8
#8 X 1-1/4"L GALV mommém\

@ 12" O.C. MAX SPACING

SEAM STRIP W/ SEAM PLATES @
12" O.C. MAX SPACING

TPO ROOFING OVER
COVERBOARD OVER

1-1/2" INSULATION

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER (E)

WOOD DECKING

REMOVE EXISTING

REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

(E) T&G WOOD DECKING

1X TRIM & EDGE

FLASHING & CLIP.

REMOVE (E) COUNTER FLASH'G
AND TERMINATION BAR

u Rl

REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

(E) T&G WOOD DECKING

REMOVAL DETAIL

(N) TPO MEMBRANE ADHERED TO ——

COVER BOARD ADHERED TO RIGID
INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E) DECKING

REMOVE (E) ROOFING SYSTEM
DOWN TO WOOD DECKING
PREP TO A SMOOTH AND CLEAN
DECK FREE OF BUTAMIN.

(E) T&G WOOD DECKING

Y

2>

REMOVAL DETAIL

SEAM STRIP W/ SEAM PLATES @ —,
12" O.C. MAX SPACING

2X4 TREATED PLATE W/
#10 X 3"L GALV. SCREWS
@ 12" O.C. MAX SPACING

TPO COATED MTL EDGE FLASH'G W/
#8 X 2"L GALV. SCREWS @
12" O.C. MAX SPACING.

1X4 TREATED TRIM W/

#8 X 2"L GALV SCREWS @
12" O.C. MAX SPACING

TERMINATION BAR (TB) W/

#8 X 1-1/2"L GALV SCREWS
@ 12" O.C. MAX SPACING

TPO OVER ADHEASIVE

SEAM STRIP W/ SEAM PLATES @ ———
12" O.C. MAX SPACING

2X4 TREATED PLATE W/
#10 X 3"L GALV. SCREWS
@ 12" O.C. MAX SPACING

TPO ROOFING OVER
COVERBOARD OVER
1-1/2" INSULATION

TPO ROOFING OVER
COVERBOARD OVER
1-1/2" INSULATION

MECH. FASTENED SUBSTRATE
OVER UNDERLAYMENT OVER
(E) WOOD DECKING

o7

N — SUBSTRATE MECH FASTENED
TO (E) WOOD DECKING

——— UNDERLAYMENT

NEW DETAIL

2X4 TREATED PLATE W/
#10 X 3-1/2"L GALV. SCREWS
@ 12" O.C. MAX SPACING

/ A\DETAIL @ ROOF

AX6.2 / SCALE: 3" = 1'-0"

MECH. FASTENED SUBSTRATE ———

OVER UNDERLAYMENT OVER

(E) WOOD

DECKING

NEW DETAIL

/B\DETAIL @ ROOF

AX6.2 / SCALE: 3" = 1'-0"

NEW DETAIL

/c\DETAIL @ ROOF
@ SCALE: 3" = 1'-0"

REMOVE EXISTING
FLASHING & CLIP.

SHT METAL CAP FLASH'G W/
CONT. CLIPS W/ #8 X 1-1/2"L
GALV. SCREWS @ 12" O.C.
MAX SPACING

o: “W: m: ©=

|
7
{

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

DRAWING NO.

AX6.2

s 30 o 41




(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID

INSULATION ADHERED TO SUBSTRATE
MECH FASTENED TO (E) WOOD DECK

OVER UNDERLAYMENT

|
a2a800geqesedeedeceleCetecesegegedeedecoleqesececedecesecosecetecesececeseceseceleceseceseqecegeceq
e~ 0a 0005 0a 050005 0a0a0a 9005009095050 909405009094 05 009595000095 050000950590 90 9595909494 9290 92929 %

(N) SHT. MTL CAP FLASH'G W/
CONT. CLIPS W/ #8 X 1-1/2"L ﬁ
GALV. SCREWS @ 12" O.C.

(N) 2X TREATED NAILER W/ 1 - S — 4
5/8"@ X 3-1/2"L GALV. BOLTS #

W/ EXPANSION SLEEVES
@ 32" O.C. MAX SPACING

N

Y |

<0

(E) ELECTRICAL CABINET -
REMOVE AND REINSTALL
TO COMPLETE NEW WORK

I__
_

+— (E) ANTENNAE - REMOVE AND REINSTALL AS REQ'D
TO COMPLETE NEW WORK.

EPDM OVER ADHESIVE - COLOR
COAT TO MATCH (E) SURFACE COLOR

TPO OVER >_UImm_<m_

_

_

_

_

_

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR _
ANCHORS @ 12" O.C. MAX SPACING _
_

_

_

WELDED SPLICE

-
%2238
—va

SEAM STRIP

TPO OVER ADHESIVE

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION.

11-0"

(E) WOOD DECK

ADHEAR ALL LAYERS OF INSULATION

/AN\DETAIL @ PARAPET

AX6.3 / SCALE: 3" = 1"-0"

/ MECHANICALLY FASTENED SUBSTRATE
OVER UNDERLAYMENT.

(E) 4X6 T&G DECKING

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION.

(N) 2X6 NAILER W/ #10 X 4L WD SSTL
WD SCREWS @ 12" O.C. MAX SPACING

TPO FLASHING OVER

ADHESIVE W/ SEALANT AT EDGES

SHT. MTL. EDGE FLASHING W/ CONT.

— CLIP W/ # 8 X 1-1/4" SSTL
o WD SCREWS @ 12" O.C. MAX

SPACING

(E) 4X6 T&G DECKING

MECHANICALLY FASTENED SUBSTRATE —
OVER UNDERLAYMENT.

SEALANT

(N) 2X10 FASCIA W/ #10 X 3"L
STAGGERED @ 12" O.C. MAX

(E) 2X FASCIA

/B\DETAIL @ GABLE

END FASCIA

AX6.3 / SCALE: 3" = 1'-0’

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION.

(N) 2X6 NAILER W/ #10 X 4"L SSTL
WD SCREWS @ 12" O.C. MAX SPACING

TPO FLASHING OVER

ADHESIVE W/ SEALANT AT EDGES

— = CLIP W/ # 8 X 1-1/4" SSTL

< |

WD SCREWS @ 12" O.C. MAX
= SPACING

SHT. MTL. EDGE FLASHING W/ CONT.

(E) 4X6 T&G DECKING

MECHANICALLY FASTENED SUBSTRATE —
OVER UNDERLAYMENT.

/ SEALANT

(N) 2X10 FASCIA W/ #10 X 3"L
STAGGERED @ 12" O.C. MAX

(E) 2X FASCIA

/c\DETAIL @ FASCIA

AX6.3 / SCALE: 3" = 1'-0"

o: w:

@:

@:

|
7
{

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.

DRAWING NO.

AX6.3

ser 36 & 41




(E) PAINTED SHT. METAL
VENT.

REINSTALL (E) PAINTED SHT. MTL.
VENT. PAINT TO MATCH (E).

MIN.

MIN.

ADHESIVE APPLIED

TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER

ADHESIVE APPLIED INSULATION
OVER MECH. FASTENED SUBSTRATE
OVER UNDERLAYMENT OVER

(E) WOOD DECKING

W/ CONT. CLIP. PAINT TO !

(N) SHT. MTL. CURB FLASHING _7
MATCH (E) ADJACENT SURFACE. i

TPO OVER BONDING |
ADHESIVE. _

2" SEAM PLATES @ 12" O.C.
OVER SEAM STRIP

TREATED 2X6 PLATE W/
#10 X 3-1/2"L GALV SCREW
ALT @ 12" O.C.

‘111111111111111 - - ‘l

=0t %% =
ege2e9s8 -
800050

-

/A N\DETAIL

(E)

(N) 2X TREATED WOOD CURB

I e
- - —aaY ‘ ‘ (i
\ B aeTataiataececsle ="
- o 0aia0se 0000009 —
e e e aeceaea=

)

)

f\ o
ao«o“o“o”o”ontnv
00000 9=0

DUCT EXTEND AS REQUIRED
TO COMPLETE CONNECTION

AX6.4 / SCALE 3" = 1'-

8" MIN.

2X6 NAILER W/ #10 X 4"L SCREWS -
@ 12" O.C.

- — — — — — — —

O

A

—

\y

@ EXHAUST VENT
=

WELDED WIRE STAINLESS STEEL MESH SCREEN

STAINLESS STL DRAW BAND

SEALANT

@ 12" O.C.

ADHESIVE APPLIED TPO MEMBRANE /FLASHING
SEAM PLATES W/ #8 X 1-5/8"L SCREWS

STAINLESS STL DRAW BAND

EXISTING PLUMBING VENT PIPE EXTEND AS REQUIRED
CLEAN, PREPARE, AND PAINT WITH ZINC RICH PAINT

PRIOR TO INSTALLATION OF TPO ADHESIVE AND
TPO FLASHING

ADHESIVE APPLIED TPO MEMBRANE/FLASHING

TPO ROOFING SYSTEM
OVER BARRIER BOARD

|

(E) WOOD DECKING L

/B\DETAIL @ PLUMBING VENT

AX6.4 / SCALE 3" = 1'-0"

O

10”
N-u NS
1/4" THK STEEL PLATE
« N i 1/2"@ X 5"L MB WITH LARGE WASHERS
S 2 AND NUT AND LOCK WASHER TYP
This <<o_\_Aa<<om prepared by
me Oor under _ﬁv\ mc_um_.<_m_03
. —(O)—
— , , .
7 ~ T~ STRUCTURAL TUBING EXTRA STRONG TYPE S
. ) \S 2"NOMINAL SCHEDULE 80 .218”" WALL THICKNESS N
o~ \ FULL WELD TO PLATE &
/ 3" X 3" X 1/4" BRACING FULL WELDED :
TO TUBING AND PLATE TYP. 1 OF 4
10” m
— |FORGED STAINLESS STEEL EYE BOLT o
w%_um AND 3/4"X6"X1-1/2"X3" DECEMBER 18, 2013
._->O—A ém_lc wo_l._- %ﬁ _IOO—A SUBMITTAL DATE
FILL WITH POURABLE = NUT TO INSERT es MHS forw mHS Jow wmHs
SEALANT SOLID STEEL INSERT DRILL AND TAP
TO MATCH EYE BOLT WELDED TO m m
STRUCTURAL TUBING EXTRA STRONG TYPE S f | _/ APE DRILL_EIPE_AND MELD. 5 £
2"NOMINAL SCHEDULE 80 .218”" WALL THICKNESS _ _ " PAN QUT OF 22 GA METAL FLASHING . m m
FULL WELD TO PLATE | TPO FLASHING £ 3
N 5
_ _ m
| | 2
s | |
0 Il mm
| m 5
0]
—l
| <
= 1 1-1/2" MIN. TYP w
SECTION 7 =
<
zZ
V|
7 cN\DETAIL @ GUY ANCHOR ATTACHMENT =
AX6.4 / SCALE 3" = 1'-0" < o
< |
= | -
< H
N
(@)
|
m
()]
prd
<C
=
=
3
o &
Q0o
£l 22
-z
L
1EE
g 0= |9
s 3|iz |E
e 5las |8
b =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.
.. . |AX6.4
| |

ser 3/ & 41




(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID

INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E) WOOD

q‘.

ED WOOD NAILER
L GALV. SCREWS @

EDGE FLASHING W/

#8 X 1-7/8" GALV SCREW @ 12" O.C.

SSTL @ 24" 0.C.

(N) SPACER OUT OF 1/16" X 1"

(N) TPO MEMBRANE ADHERED TO
COVER BOARD ADHERED TO RIGID

INSULATION ADHERED TO MECH
FASTENED SUBSTRATE OVER
UNDERLAYMENT OVER (E) WOOD
DECKING

(N) 2X6 TREATED WOOD NAILER

W/ #10 X 4"L GALV. SCREWS @
12" O.C. MAX SPACING.

STAGGARD

................... ~

TPO COATED EDGE FLASHING W
#8 X 2" GALV SCREW @ 12" O.C.

(N) SSTL. SPACER OUT OF 1/16" X 1"
SSTL @ 24" O.C.

(N) .060 IN THK ALUM GUTTER
PAINT GUTTER TO MATCH (E)

(N) TREATED 2X10 FASCIA

{

—

_.__ U‘“\ (N) TREATED 2X10 FASCIA

W/ #10 X 3"L SCREWS @
12" O.C. MAX SPACING

—— (N) GUTTER BRACKETS

1/8" X 2" STAINLESS STEEL

@ 24" O.C. W/ 2-#10 X 1-1/2"L
@ EA BRACKET SECURED TO
FASCIA

(N) .060 IN THK ALUM GUTTER

W/ #10 X 3"L SCREWS @
12" O.C. MAX SPACING ©

(N) GUTTER BRACKETS

1/8" X 2" STAINLESS STEEL (SSTL)
@ 24" O.C. W/ 2 - #10 X 1-1/2"L

@ EA BRACKET SECURED TO
FASCIA

'/

DECKING
(N) 2X6 TREAT]
W/ #10 X 2-1/2]
12" O.C. MAX SPACING.
5 /] /]
. e
5 ) ] \ —=
[ [
% / e
/ :
il
g E—
(E) SOFFIT @
I|||I||\\\\\\

(E) 2X FASCIA

/ A\DETAIL @ GUTTER
é SCALE: 6" = 1"-0"

STRAP

/B\DETAIL @ GUTTER
é SCALE: 6" = 1"-0"

o- w:

(N) 1" W X 24 GA HANGER

m-

(N).025 IN THK X 3" @ ALUM D.S. @ (E) 3" D.S.

AND (N) .025 IN THK X 4" @ ALUM D.S. @
(N) 4" @ D.S.

=78
O

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE
es MHS forw mHS Jow wmHs

DEPARTMENT OF DEFENSE
DESIGN AND PROJECT MANAGEMENT BRANCH

HAWAII ARMY NATIONAL GUARD

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

AX06.5

ser 38« 41




ADHESIVE APPLIED
TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION

2X6 TREATED PLATE W/
174" 3 X4"LEB @ 12" O.C. W/

ALTER. @ 12" O.C. MIN.
MIN. 2 PER SIDE.

2X6 NAILER W/ #10 X 3"L SCREWS

—=——— TPO COATED EDGE FLASHING

1/8" X 2" SST GUTTER SPACERS @ 24" O.C.

I

(E) CONCRETE SLAB

EH L (HE

(N) .0641 IN THK ALUM GUTTER

3/16" X 2" SST GUTTER BRACKETS @ 24" O.C.
@ 24" O.C. W/ 2 #10 X 1-1/2"L SSTL SCREWS

(N) 2X12 TREATED WOOD FASCIA W/
5/8"@ X 5"L EB @ 4'-0" O.C. MIN. SPACING

- (N) 4" ABS D.S.

(B\DETAIL @ GUTTER
é SCALE: 6" = 10 -

(N) EDGE FLASHING W/ #8 X 2"L SSTL
SCREWS @ 16" O.C. MAX SPACING

1/8" X 1" SST GUTTER SPACERS @ 24" O.C.

(N) .051 IN THK PRE-FIN ALUM GUTTER

(N) 2X8 FASCIA W/ 5/8"@ X 3-1/2"L EB
@ 24" O.C.

W/2#10 X 1-1/2"L SSTL SCREWS

1/8" X 2" SST GUTTER BRACKETS @ 24" O.C.

5”

(N) LEADER HANGER
STRAP

@ S

#-v

(N) PRE-FIN ALUM LEADER

\/om;_r Q ocjmm
émgm 6"

TREATED 2X6 NAILER W/

#10 X 4"L SCREWS
@ 12" O.C. STAGGH

(N) ADHESIVE APPLIED

TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION

RD 4 L

q‘.

5’

(N) TPO COATED EDGE FLASHING.
W/#8 X2"@ 12" O.C.

(N) SPACER OUT OF 1/8" X 2"

SSTL @ 24" O.C.

et )]

FACIA OUT OF TREATED 2X12
W/ #10 X 3-1/2"L SCREWS
@ 12" O.C. MAX SPACING

(N) GUTTER BRACKETS

3/16" X 2" SSTL @ 24" O.C.
W/2-#10 X 1-1/2"L @ EA
BRACKET SECURED TO
FASCIA. PAINT TO MATCH

(E)

(N) .063 IN THK ALUM GUTTER
PAINT TO MATCH (E).

\Jom;_r Q@ GUTTER

AX6.6 / SCALE: 6

o- w-

m:

\\\\\\f

¢§

Y
\\\mmmn

This work was prepared by
me or under my supervision

APPR

DATE

DESCRIPTION

SYM

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
pd
O
T
<
pd
>
=
e
< AN
A”n +
o3
< | <
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
Bl ez
o
i
n <
R EE
O n
2 3|l |2
= 1
B 3 x = (=
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

AX6.6

ser 39 & 41




7
{

ADHESIVE APPLIED
TPO MEMBRANE OVER

1/2" COVER BOARD

ADHESIVE APPLIED OVER

ADHESIVE APPLIED INSULATION

OVER MECH. FASTENED SUBSTRATE TREATED 2X6 PLATE W/
OVER UNDERLAYMENT OVER #10 X 4"L SCREW

(E) WOOD DECKING ALT @ 12" O.C.

EDGE FLASHING
W/ #8 X 1-1/2"L @ 12" O.C. |z
. | Z
CONT. CLIP W/ #8 X 1-1/2"L @ =
12" O.C. This work was prepared by
-/ me or under my supervision
(N) TREATED 2X10 FASCIA \%\
W/ #10 X 3"L SCREWS ALT ) . Vi, A\\m\b\\».
@ 12" O.C.
/ \ (E) 4X6 T&G DECKING -
(E) FASCIA

DATE

ADHESIVE APPLIED
TPO MEMBRANE OVER
(E) REINSTALLED VENTILATOR 1/2" COVER BOARD
ADHESIVE APPLIED OVER
ADHESIVE APPLIED INSULATION
OVER MECH. FASTENED SUBSTRATE
OVER UNDERLAYMENT OVER
— (E) WOOD DECKING

DESCRIPTION

SYM

VIS I

SUBMITTAL PHASE
DECEMBER 18, 2013
(N) 2X TREATED WOOD CURB — TPO OVER BONDING SUBMITTAL DATE
2" SEAM PLATES @ 12" O.C. ADHESIVE. pes  MHS |orw MHS Joik mMHS
OVER SEAM STRIP |z
TREATED 2X6 PLATE W/ / \ M m m
#10 X 4"L SCREWS .
ALT @ 12" O. = m
TERMINATION BAR m 3
TPO OVER BONDING | B =
ADHESIVE. @@@% e m vﬂjﬂ @@@@ d
T 2" SEAM PLATES @ 12" O.C. ADHESIVE APPLIED g
. OVER SEAM STRIP TPO MEMBRANE OVER | |
< |_|_Nm>|_|m_u NX@ _U_I>|_|m <<\ \_\N: Oo<mm mo>mo C C C C m
#10 X 4"L GALV SCREW ADHESIVE APPLIED OVER
ALT @ 12" O.C. ADHESIVE APPLIED INSULATION
OVER MECH. FASTENED SUBSTRATE
. OVER UNDERLAYMENT OVER
(E) WOOD DECKING MODIFY EXISTING AS
REQUIRED TO COMPLETE
REINSTALLATION (E) 4X6 T&G DECKING

HAWAII ARMY NATIONAL GUARD

7/ AN\DETAIL @ POWER VENTILATOR

/B\DETAIL @ GABEL END 7 ) some 5 - 7
é SCALE 3" = 1'-0"

(E) 4X6 T&G DECKING

RE-ROOF TROOP COMMAND BLDGS #1 & #2

WAIAWA ARMORY

DETAILS

FACILITY MANAGEMENT OFFICE

g STATE OF HAWAIl

AS NOTED

STATE J0B NO.
CA-1219-D

FEDERAL PROJECT NO.

DRAWING NO.

———= | AXG.7

ser 40 & 41




(N) SHT. MTL CAP FLASH'G W/
CONT. CLIPS _~

(N) 2X TREATED NAILER W/

5/8"@d X 3-1/2"L GALV. BOLTS __

W/ EXPANSION SLEEVES
@ 32" O.C. MAX SPACING

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION OVER
(E) CONCRETE DECK.

_ SEAM TAPE

TPO OVER BONDING
ADHESIVE.

SEAM PLATE W/ 3/16"@ x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

/B \DETAIL @ PARAPET
é SCALE 3" = 1"-0"

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

)
I

O

This work was prepared by
me or under my supervision

\%m&\‘m\g,

APPR

TERMINATION BAR W/
1/4"@ X 1-1/2"L HD FASTENER
@ 18" O.C.

EYY >,

T = = X = < I ==
Siestassessatasicaeatities
0292929292 929292 929292929

DATE

COLOR COATED EPDM OVER
BONDING ADHESIVE OVER

(E) CONCRETE PARAPET. COLOR
TO MATCH (E) SURFACE.

ADHESIVE APPLIED TPO MEMBRANE,
COVERBOARD AND INSULATION OVER
(E) CONCRETE DECK.

DESCRIPTION

SYM

SEAM TAPE

TPO OVER BONDING

SUBMITTAL PHASE

DECEMBER 18, 2013

SUBMITTAL DATE

ADHESIVE.

SEAM PLATE W/ 3/16"d x 1-1/2"L HMDR
ANCHORS @ 12" O.C. MAX SPACING

WELDED SPLICE

7/ AN\DETAIL @ PARAPET

AX6.8 / SCALE 3" = 1'-0"

es MHS forw mHS Jow wmHs
5 |
£ 3
"
2
of
e
<
2
Q)
-
<
Z
O
T
<
Z
>
=
e
< N
A”H +
o3
< | <
< **
)}
T O
o
a
m
a
Z
<
=
=
S
Q&
°ge)
Bl ez
o
- Z
LL
R EE
o %)
2 3|l |2
s Z|lw |5
x= | &
E =8 (@]
B =
SCALE:
AS NOTED
STATE JOB NO.
CA-1219-D
FEDERAL PROJECT NO.
DRAWING NO.

AX6.3

ser 41 & 41




	WAA001D100F2
	WAA002D100F
	WAA003D100F
	WAA10D100F
	WAA11D100F
	WAA12D100F
	WAA13D100F
	WAB11D100F
	WAB12D100F
	WAC11D100F
	WAD11D100F
	WAE11D100F
	WAF11D100F
	WAX21D100F
	WAX22D100F
	WAX23D100F
	WAX24D100F
	WAX31D100F
	WAX32D100F
	WAX33D100F
	WAX41D100F
	WAX42D100F
	WAX43D100F
	WAX51D100F
	WAX52D100F
	WAX53D100F
	WAX54D100F
	WAX55D100F
	WAX56D100F
	WAX57D100F
	WAX58D100F
	WAX59D100F
	WAX60D100F
	WAX61D100F
	WAX62D100F
	WAX63D100F2
	WAX64D100F
	WAX65D100F
	WAX66D100F
	WAX67D100F
	WAX68D100F

